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Question Number : 1 Question Id : 92775914811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The series is given, with one term missing. Choose amongst the given responses and complete the series.

A2E, E4], 180,? , Q32Y
Options :

1. # O10S

2. % MI2S

3. % MI12T

4, ¥ M16T

Question Number : 1 Question Id : 92775914811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

& TS Rae H U UG W ¢ | 3T Y fasdment H O 99 BT aUT $Rad &l IR Bifod |

A2E, E4], 180,? , Q32Y
Options :

1. % O10S

2. % MI12S

3. % MI2T

4, ¥ M16T

Question Number : 2 Question Id : 92775914812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What comes in place of question mark (?) in the following letter series?

E, GH, JKL, ?, STUVW
Options :

1. % MNOP

2. ¥ NOPQ

3. ¥ OPQR

4. % PQRS

Question Number : 2 Question Id : 92775914812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAgferfad sieR 9ot 4 usarasd foe (7) o I R T 3R

E, GH, JKL, ?, STUVW
Options :

1. ¥ MNOP

2. ¥ NOPQ

3. ¥ OPQR



4. % PQRS

Question Number : 3 Question Id : 92775914813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing letter in the series.

R, U X,A,D,?
Options :

1. * E

2. % F

3. G

4. % 1

Question Number : 3 Question Id : 92775914813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau e famedl & 9, 90t & g 31eR 1d S|

R, U, X, A,D,?
Options :

1. * E

2. % F

3. 99G

4. %1

Question Number : 4 Question Id : 92775914814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing letters in the series when placed from left to right.

M N N A
Options :



1. ®* AAMAM
2. ¥ ANMAA
3. ¥ AMAMN
4. # NAMMA

Question Number : 4 Question Id : 92775914814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fahed 1 g fTae 31&R S14 ¥ 31T W oM W 98 &1 7T 49el &1 dlfihd 0 3 R HI

M N N A
Options :

1. ¥ AAMAM

2. % ANMAA

3. ¥ AMAMN

4. ¥ NAMMA

Question Number : 5 Question Id : 92775914815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related letters from the given alternatives.

EKTS : HHWP :: OGWR : ?
Options :

1. % HEPH

2. % LDTO

3. ¥ RDZO

4. % RZDO

Question Number : 5 Question Id : 92775914815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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EKTS : HHWP :: OGWR : ?

Options :

1. ¥ HEPH

2. % LDTO

3. ¥ RDZO

4. ¥ RZDO

Question Number : 6 Question Id : 92775914816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related letters from the given alternatives.

IYXS : FSOG :: ? : BMHR
Options :

1. % ETQF

2. % YGYF

3. ¥ YFGR

4. ¥ ESQD

Question Number : 6 Question Id : 92775914816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U fadedt & @ Traferd 1&RY o1 9o Bifo |
IYXS : FSOG :: ?: BMHR

Options :

1. # ETQF

2. ¥ YGYF

3. ¥ YFGR

4. ¥ ESQD



Question Number : 7 Question Id : 92775914817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related word from the given alternatives.

Dengue: Mosquito:: Plague:?

Options :
1. * Dog
2. % Cat
3. % Rat

4. % Lion

Question Number : 7 Question Id : 92775914817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad gy |, fGu U fawedl # ¥ Gefed Wsg &1 9= PioT |
@LW::@"T:?

Options :
1. % ol
2. % foeedl
3. ¥ gl
4. % TR

Question Number : 8 Question Id : 92775914818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related letters from the given alternatives.

BEGK : ADFJ :: PSVY:?
Options :
1. ® ROUX



2. ¥ ORUX
3. % LQUT
4. % LOQT

Question Number : 8 Question Id : 92775914818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fT T faspetl & 9 Teaiferd 3fari &1 99 B |
BEGK : ADFJ : : PSVY:?

Options :

1. ®# ROUX

2. ¥ ORUX

3. % LQUT

4. % LOQT

Question Number : 9 Question Id : 92775914819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language if 'TAKE IT' is coded as '37 29', then how will the word ‘HAVE TO’ be coded in that language?
Options :

1. % 48 14

2. %3635

3. % 5035

4. % 5215

Question Number : 9 Question Id : 92775914819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS i3 Hied T & Al TAKE IT' 137 29 ' & U & FHcd T ST §, O ST U & 'HAVE TO' ®I ¥ Hicd fbar S

Options :
1. % 48 14




2.¥3635
3. % 5035
4. % 5215

Question Number : 10 Question Id : 92775914820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If' Quintal' is called ' Kilometer ', © Kilometer' is called' Dozen', ' Dozen' is called' kilogram' and 'kilogram ' is called* Fahrenheit', then which of
the following is unit of distance ?

Options :

1. # Kilometer
2. * Kilogram
3. % Dozen

4. % Quintal

Question Number : 10 Question Id : 92775914820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fbea &I fraier, faadiey i Gor, ' gor & T 3R ! fEaRm & BRI S8l Il ¢, i Fafiad & 9 & 9t
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Options :

1. % foaHier

2. % el

3. ¥ oA

4. % fdcd

Question Number : 11 Question Id : 92775914821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language ‘Rectangle is a Perimeter’ is written as ‘19 B2 A1 F6’, ‘Perimeter has four sides’ is written as ‘F6 H3 D4 G5’ and
‘Rectangle is a measure’ is written as ‘19 B2 A1 E5’.

What is the code for ‘measure’ in this code language?



Options :
1. ¥ E5
2. % Al
3. % G5
4. % D4

Question Number : 11 Question Id : 92775914821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Aigd pcHNT o ‘Rectangle is a Perimeter’ @I ‘19 B2 Al Fo’ feran \_Sl'l?IT%, ‘Perimeter has four sides” @1 ‘F6 H3 D4 G5 foran \_rl'l?‘lT%, 3R
‘Rectangle is a measure’ &I 19 B2 Al E5’ ferar Gﬂ?ﬂ%l

WFWﬁ‘measure’aamﬁwm?
Options :

1. ¥ E5

2. % Al

3. % G5

4. % D4

Question Number : 12 Question Id : 92775914822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, if the value of ‘CUSTOM’ =22 and “LABOUR” = 20, then what is the value of the word ‘HISTORY’?
Options :

1. % 42

2.9 49

3. % 46

4. % 48

Question Number : 12 Question Id : 92775914822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T g Hied uw &, afd 'cusToM' =22 3R 'LABOUR’ = 20, 8 o ‘HISTORY” RTsg &1 U &1 G2
Options :

1. % 42

2. 49

3. % 46

4. % 43

Question Number : 13 Question Id : 92775914823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IfA=1,B=3,C=5 and so on, then how will the word DESK be written as?
Options :

1. ® 763721

2. % 653721

3. % 753721

4. 793721

Question Number : 13 Question Id : 92775914823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G A=1,B=3,C=5 3R T UPHR 3T, Al DESK et B! b feral STE?
Options :

1. ® 763721

2. % 653721

3. % 753721

4.+ 793721

Question Number : 14 Question Id : 92775914824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 friends are sitting in a row. 'M' is to the left of 'O' and to the right of 'P'. 'S' is sitting to the right of "T" but to the left of 'P'. Who is sitting in the
middle?



Options :
l.* 0O
2.¥P
3.% S
4. * M

Question Number : 14 Question Id : 92775914824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % O
2.¥P
3.% S
4. % M

Question Number : 15 Question Id : 92775914825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a family of five members A, B, C, D and E each one is of a different age. C has equal number of older persons younger than him and older
than him. Neither B nor D is the youngest or the oldest person in the family. B is younger than A but older than C. Who is the fourth oldest
person in this family?

Options :
1. * B
2.¥D
3. % E
4. % C

Question Number : 15 Question Id : 92775914825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % B

2.¢D

3. % E

4. % C

Question Number : 16 Question Id : 92775914826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A+B means B is the father of A, A*B means B is the wife of A, A-B means B is the sister of A, A+B means B is the son of A. Then in which
of the following given options, A is the sister-in-law of Y ?

Options :

1.# B-M+A+-Y-X+R
2.% R-M+A+Y*B+X
3. Y+A+R-M*X~+B
4. ¥ R+-Y-M+X+B*A

Question Number : 16 Question Id : 92775914826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I A+B BT 31U 8, B, ADT UG, A*B BT 3§, B, ADI Ucil 8, A- BB 3§, B, ADI g6, A-B BT 3 G, B, ABIGAGI A
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Options :

l.*B-M+A+Y-X+R

2% R-M+A+Y*B=+X

3. Y+A+R+-M*X~+B

4, ¥ R-Y-M+X+B*A

Question Number : 17 Question Id : 92775914827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The umpires entered into the ground at 20 minutes past 9 am, and they came 15 minutes before the batsman who in turn was late by 10 minutes
from the start of the match. At what time was the match supposed to start?

Options :

1. % 9:25 am.
2. % 9:35am.
3. % 9:40 a.m.
4. % 9:20 a.m.

Question Number : 17 Question Id : 92775914827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIITERT ¥ &g 9 FoIhR 20 e WR AaM & yawr fan, 3R d geaiamt ¥ 15 e ugd oM S 79 = 814 ¥ 10 e &1 48 9 ugd | 7d
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Options :

1. ¥ 9:25 Ydlg

2. % 9:35 qalg

3. % 9:40 aTg

4. % 920 Jdlg

Question Number : 18 Question Id : 92775914828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six friends A, B, C, D, E and F sit around a circular table, not necessarily in the same order. If B sits in between A and D and F sits in between A
and C then who sits to the immediate left of A?

Options :

1. % A

2. % B

3. % E

4. ¥ Either F or B

Question Number : 18 Question Id : 92775914828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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C & S § d6dl 5, A A & Havead! a1 S 93T 82

Options :

1. % A

2.% B

3.% E

4.V IIAFAB

Question Number : 19 Question Id : 92775914829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below are given three statements followed by four conclusions. You have to take the given statements to be true even if they seem
to be at variance with the commonly known facts and then decide which of the given conclusions logically follows from the given statements,
disregarding commonly known facts.

Statements:

Some Liver are Kidney.
Some Kidney are Heart.
All Heart are Brain.

Conclusions:

I. Some Brain are Liver.

II. Some Brain are Kidney.
III. Some Heart are Liver.
IV. No Brain is called Liver.

Options :

1. * None follows

2. * Only conclusion IV follows
3. % Only conclusion II follows

4. % Only conclusionlII follows

Question Number : 19 Question Id : 92775914829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % iz H SR g T 8

2. % Had FSHY [V IR0 Hdl §
3. ¢ Had fhY 11 IR0 Rl §
4. % Had FTSHY [11 TR0 HRAT §

Question Number : 20 Question Id : 92775914830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question, below are two statements followed by two conclusions numbered I and II. You have to consider the statements to be true even if
it seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statements:
I. All hats are bowls.

II. All bowls are stones.

Conclusions:



I. Some stones are hats.
II. All stones are hats.

Options :

1. % Only conclusion (I) follows
2. % Only conclusion (II) follows
3. % Both conclusions follow

4. ® Neither conclusion (I) nor conclusion (II) follows

Question Number : 20 Question Id : 92775914830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ Had s (1) IR0 HAT 5 |

2. % Had 5HY (I1) IR0 HRl §

3. % A1 ey S qERU PR §

4. % ) freemd (1) 7 8 Fsp (11) SFIRUT ARAT §

General Ability2
Group Number : 2
Group Id : 927759534

Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General Ability2

Section Id : 927759570

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 927759707

Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 92775914831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question, below are three statements followed by two conclusions numbered I and II. You have to consider the statements to be true even if
it seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statements:

Some birds are tigers.
All tigers are schools.
Some schools are goats.

Conclusions:



I. Some goats are birds.
II. Some schools are birds

Options :

1. % If only Conclusion I follows

2. ¥ If only Conclusion II follows

3. # If neither Conclusion I nor II follows
4. # If both Conclusions I and II follow

Question Number : 21 Question Id : 92775914831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % g dad s [ 3FERU AT §

2. ¢ Tf Had FTsHY 11 TRV HrlT §

3. % gig T Fme 1 3R 71 8t FIsah 11 SRR FHorell §
4. % e G Fps 1 3R 11 SRV B &

Question Number : 22 Question Id : 92775914832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the question below, two statements are given which are followed by two conclusions I and II. You have to take the given statements to be true,



even if they seem to be at variance with the commonly known facts, and then decide which of the conclusions logically follow(s) from the given
statements, disregarding commonly known facts.

Statements:
Some googles are yahoos.
No yahoo is a mail.

Conclusions:
I. Some googles are mails.
II. No google is a mail.

Options :

1. ® If only conclusion I follows

2. % If only conclusion II follows

3. ¥ If either conclusion I or conclusion II follows

4. % If neither conclusion I nor conclusion II follows

Question Number : 22 Question Id : 92775914832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % i Bad Fepy | SERU BT

2. % g Had BT 11 IR0 Hdl §

3. ¢ Tfe A dl e 1 a1 e 11 SERU R §

4. % G A Fpd 1 3R T 8 FIsh Y 11 SR el §



Question Number : 23 Question Id : 92775914833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below, three statements are given which are followed by two conclusions I and II. You have to take the given statements to be
true, even if they seem to be at variance with the commonly known facts, and then decide which of the conclusions logically follow(s) from the
given statements, disregarding commonly known facts.

Statements:

Some teachers are students.
All students are heroes.
Some heroes are dummies.

Conclusions:
I. Some dummies are teachers.
II. Some teachers are heroes

Options :

1. # If only conclusion I follows

2. % If only conclusion II follows

3. % Ifeither conclusion I or II follows

4. % If neither conclusion I nor II follows

Question Number : 23 Question Id : 92775914833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. $© 1l e B

1. S & R 8

Options :

1. % gfe Had (sh [ IR0 FRl §

2. ¢ T Had (BT 11 TR0 Sl §

3. % gfe a1 ql fFAeme 137 11 SR okl §

4. % AT FTHY 1 IR TS 11 IRV HRAT §

Question Number : 24 Question Id : 92775914834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the next term in the series.
229,199, 171, 145, 121, ?

Options :
1. ¥ 99

2. %107
3. %109
4. % 114

Question Number : 24 Question Id : 92775914834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S DT AT U 1 R |

229,199, 171, 145, 121, ?

Options :

1. ¥ 99

2. % 107

3. % 109

4. % 114

Question Number : 25 Question Id : 92775914835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related number from the given alternatives.

5:20::7:7?
Options :
1. ¥ 42
2. % 49
3. % 17
4. % 33

Question Number : 25 Question Id : 92775914835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAmfeiRad U= o, fau e faswedl & O grafRid ¥=a1 &1 gfHu|

5:20::7:7
Options :
1. ¥ 42
2. % 49
3. % 17
4. % 33

Question Number : 26 Question Id : 92775914836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following series.

3,10, 15, 26, 35, ?
Options :

1. ¥ 50

2. % 49

3. % 48

4. % 47



Question Number : 26 Question Id : 92775914836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad saen 8, du ug I1d SIS |

3,10, 15, 26, 35,7
Options :

1. ¥ 50

2. % 49

3. % 48

4. % 47

Question Number : 27 Question Id : 92775914837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If in a certain way, 76 x 85 =2 and 94 x 36 = 18, then find 87 x 93 =?
Options :

1. = 32

2.¥29

3. % 51

4. = 27

Question Number : 27 Question Id : 92775914837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS f3d TR 9, 76 x 85 =2 3R 94 x 36 = 18 BIAT §, T 87 x 93 = ? BT I J1d BIfo1C|
Options :

1. = 32

2.¥ 29

3. % 51

4. = 27



Question Number : 28 Question Id : 92775914838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following figures represents the best relationship among the three words given below.

Cataract, Dialysis, Tuberculosis
Options :

L.O@
.00

®
OO

Question Number : 28 Question Id : 92775914838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFraffad 7 3 B T arpfa foT Tu i Trec) & ol Tad 3 Gy bl gwiel B

Options :



LO@
.Oo

®
OO

Question Number : 29 Question Id : 92775914839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If “‘Square’ represents ‘Vehicle’, ‘Circle’ represents ‘Two-wheeler’ and ‘Rectangle’ represents ‘Four-wheeler’, then which alphabet represents
‘Two-wheeler vehicle’?

D] E
A
el
B
Options :
1. % A

2.% B



3.¢C
4. % E

Question Number : 29 Question Id : 92775914839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe il aTeT Y <= 8, 'gar, <1 ufgar &l g § 3R 3a =R ufear &Y xifar 8, df &1 91 9uf ‘<1 ufgan g 1 gifar 82

D] E
A
el
B
Options :
1. % A
2. % B
3.¢C
4. % E

Question Number : 30 Question Id : 92775914840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following figures represents the best relationship among the three words given below.

Greek, Spanish and Bengali
Options :

QO



QD

3. %

OO0

Question Number : 30 Question Id : 92775914840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifed & @ S T anefa fow e i weal & S Jed o Teiel Y gidl |
i, Wfer 3R STeht

Options :

@O
QD

2. %



OO0

Question Number : 31 Question Id : 92775914841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the figure, how many of the boxes are made of both cardboard and plastic?

Cardboard
420

Box —b 685 365 Plastic

20

Options :
1. ¥ 20

2. % 685
3. % 365
4, % 385

Question Number : 31 Question Id : 92775914841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 58 P H, Presls 3R @i Sl J fha sl a1 82
A’sﬂ:ﬂﬂéﬁ

TTFH — 685 365 AMECd
N\ | 250




Options :
1. ¥ 20

2. % 685
3. % 365
4, % 385

Question Number : 32 Question Id : 92775914842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following figures represents the best relationship among the three words given below.

Man, bird, tree
Options :



S

Question Number : 32 Question Id : 92775914842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafea & 9 - I anepfa fou e &7 e & ol Ted o Jdy &l g B
e, ueft, Us

Options :



Question Number : 33 Question Id : 92775914843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From point A, Ravi walks 5 km North-West to point B, from point B he walks 10 km South to point C. From point C he moves 5 km North-East
to point D. From point D he return to point A. If Ravi always walked in a straight line what figure has he traced ?

Options :

1. * Rhombus

2. % Kite

3. % Parallelogram

4. ¥ Trapezium

Question Number : 33 Question Id : 92775914843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fig A 9, Ia IR-ufyw fa=n &1 3R fig B 0@ 5 {5 M. gas: A &, foig B 9 a8 10 fob 1. SROT 3t sk fiig ¢ aw g ar o g1 fig €
I 98 5 fb. 1. STR-yd 1 3R fiig D d& W1 ]| fofg D ¥ a8 faig A TR a1 o g1 afe Ia gamm Hieft a1 R gaan g df ST eF-
3{TepTel 11§ 8 2

Options :

1. % FHAgHS

2. % g

3. % FHIR Igys

4. ¢ JHAS IAJUS

Question Number : 34 Question Id : 92775914844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Count the number of squares in the given figure.

Options :
1. % 18
2. %19
3. %25
4. 27

Question Number : 34 Question Id : 92775914844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& meft et & ot @t TRe 1 i

Options :
1. % 18
2. %19
3. %25
4.9 27

Question Number : 35 Question Id : 92775914845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure that will come next in the following series.



Q?uesﬁnnl?iglr; = K —
vl A A N

2w L=
.
3.0 L =X

q_

Question Number : 35 Question Id : 92775914845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 3P A BT T Diforg ot FAGferiRad siipfa e o T st



Options :
—

T ¢

2. —
:
3. % L=
-
4 % 12—

Question Number : 36 Question Id : 92775914846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the figures analogy, by choosing the figures from the given alternative.

Question Figure
# i * #
# o
= o o .
| ] | ]

~
0
O




Options :

o =
L xl %o
o)
# -4
2. % LH
o |
NPT
# [m |
#
4 v 2

Question Number : 36 Question Id : 92775914846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fadh ey o1 T BT Nt fT TN SfTepferdl & HIeRd &l GRT Hh1 |

e I
* # * #

# o|: vl ? |ilo o
[m] =] o .

| [l | ]
Options :



o 7
o)
# &
). % L O
O |
NP
it = |
4. v 12

Question Number : 37 Question Id : 92775914847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the mirror image of the figure given below.

Question Figure

“ A

Options :



4. ¢

Question Number : 37 Question Id : 92775914847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

- & it srrepfa 1 g fdfa Id S|



g% HIHhd

=

"

Y

Options :

i
&
A

%A

A@

Question Number : 38 Question Id : 92775914848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

3. %

4.9




Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Find the answer figure in which the question figure is embedded.

Question Figure

s

(X)
Options :

Question Number : 38 Question Id : 92775914848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a8 SR AP 1A Biforg Fored Uy Sepfa (g B



et S
s

(X)
Options :

Question Number : 39 Question Id : 92775914849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following figure shows different positions of a dice. What number will come on the face opposite to the face on which number 5 is present?



Options :
1. %2
2. % 4
3.3
4. % 6

Question Number : 39 Question Id : 92775914849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ST il T U &t A= fRuferl &1 gxIfaT 81 5 9ih aTel Badh & fAuRid Bad W DI AT S ST

Options :
1. % 2
2. % 4
3.3
4. % 6

Question Number : 40 Question Id : 92775914850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct option to complete the following pattern.



Question figure

B

NS

Options :
L
A

1. %

2

3. ¢

IR

Question Number : 40 Question Id : 92775914850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafafad Ued & 1 axA & forT 981 fadhed &1 994 P
T HFI

Options :

1. #®

3.¢

2)
R
R
=)




General Awarenessl

Group Number : 3

Group Id : 927759535
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awarenessl

Section Id : 927759571
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759708
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 92775914851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the another name of Golden Temple?
Options :

1. * Shri Singh Sahib

2. ® Guru Ramdas Sahab



3. # Shri Arjun Sahib
4. % Shri Darbar Sahib

Question Number : 41 Question Id : 92775914851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ul AR BT SR e 8 I ST ST 8
Options :

1. % 4t g aifgs

2. % T IHCH Aligd

3. % ot 3 Afew

4. ¢ I SR Hifgd

Question Number : 42 Question Id : 92775914852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why Pongal is celebrated?

Options :

1. ¥ To celebrate the harvest of rice, sugarcane etc

2. % To celebrate the victory of Shiva over asurs

3. # To thanks Lord Shiva for the creation of the world
4. ® To mark the birthday of Guru Chaitanya

Question Number : 42 Question Id : 92775914852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSl 1 HTT ST 62

Options :

1. ¢ T19d, T 31fS, D! Bad BT Io89d A & o

2. % 3R W R B Sl &1 Y T4 & forg

3. % YR $I 791 & fog 4R1aT fR1d &1 4=aTg & & forg




4. % TS dd0 & SFHIGH & 3d |

Question Number : 43 Question Id : 92775914853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following districts 'Bara Imambara' is situated?
Options :

1. # Hyderabad

2. % Bhopal

3. # Kashmir

4. ¥ Lucknow

Question Number : 43 Question Id : 92775914853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeiad 7 9 feg o & a1 3AmHaTST fRUd 82
Options :

1. % BRIETS

2. % YT

3. % DHYAR

4, ¥ 919

Question Number : 44 Question Id : 92775914854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The name of Mohiniattam dance is derived from the word 'Mohini'. She is the female incarnation of which of the following gods?
Options :

1. # Lord Shiva

2. % Lord Vishnu

3. % Lord Brahma

4. % Lord Indra



Question Number : 44 Question Id : 92775914854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hifg-13eH T &1 11 Hifg-T Wsg I foran T g | 98 Fafafad ¥ fog Sadr & Afedr s/adR &1 94 82
Options :

1. % Yia fRrg

2. ¢ WIdH fawy

3. % YIg- dall

4. % YA 3%

Question Number : 45 Question Id : 92775914855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are examples of Reed instruments?
Options :

1. ¥ Shehnai

2. % Tabla

3. % Ankya

4. # Jhanj

Question Number : 45 Question Id : 92775914855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiEd § O S Ss-ar &1 e 22
Options :

1. ¢ XS

2. % qddl

3. % 31feig

4. % i



Question Number : 46 Question Id : 92775914856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is known as the "Economic Constitution of India"?
Options :

1. #* Industrial Policy Resolution of 1948

2. % Industrial Policy Statement of 1956

3. * Industrial Policy of 1991

4. # Industrial Policy Resolution 1995

Question Number : 46 Question Id : 92775914856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafea o 9 58 "yRd & snfifes T & T & ST 91T 82
Options :

1. % 3frenfie ifa g, 1948

2. ¢ 3Enfe ifd uama, 1956

3. % 3Nl Hifa, 1991

4. % 3N S X, 1995

Question Number : 47 Question Id : 92775914857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following bank was started in 1865 and had its headquarters in Kolkata?
Options :

1. # Dena Bank

2. # Indian Overseas Bank

3. % Allahabad Bank

4. % State Bank of India

Question Number : 47 Question Id : 92775914857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafaRad § 9 & 1 9@ 1865 T = fovdT 74T YT 3R ST AT HiddbIdl § UT?
Options :

1. % SATdH

2. % ST SR I

3. ¥ SARIEIG S

4. % YRAg Re db

Question Number : 48 Question Id : 92775914858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the merger of Indian banks on 1 April 2020, with which bank was the Syndicate Bank merged into?
Options :

1. % Oriental Bank of Commerce

2. % United Bank of India

3. # Bank of India

4. ¥ Canara Bank

Question Number : 48 Question Id : 92775914858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 31U 2020 BT YR db1 & a0 & 3R, Rifsdhe d& &1 faed farg s & o mar um
Options :

1. % 3NRUCA d& T B

2. % FACS dF 3t A

3. % d% 3t S

4. FRIdD

Question Number : 49 Question Id : 92775914859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



As per the Union Budget 2021, how many major fishing harbours will be developed as hubs of economic activity?
Options :

1. %2

2.% 3

3.% 4

4.5

Question Number : 49 Question Id : 92775914859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HA TOIC 2021 P TR, 31w AT & Hai & U H fovd- T AS il Gdhe- dldd dag fAdbRid fhT Smar
Options :

1. %2

2.% 3

3.% 4

4.5

Question Number : 50 Question Id : 92775914860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the Union Budget 2021-22, how many new Sainik Schools will be set up in partnership with NGOs/private schools/states?
Options :

1. #® 50

2. %75

3.4 100

4. % 125

Question Number : 50 Question Id : 92775914860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HET FOIC 2021-22 P AR, TonSAT / Foh Wpal / Iodl &1 AiaR! # fha- 9T A Who Rifud feu s

Options :



1. ® 50
2. % 75
3.4 100
4. % 125

Question Number : 51 Question Id : 92775914861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the joint that joins our neck with the head called?
Options :

1. # Ball and socket joints

2. ¥ Pivotal joints

3. % Hinge joints

4. # Fixed joints

Question Number : 51 Question Id : 92775914861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
a8 I T Y g S AR 716 1 RR I shsar 82

Options :

Question Number : 52 Question Id : 92775914862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With which of the following body-parts do redworms grind their food?
Options :

1. # Teeth



2. % Gizzards
3. % Gills
4. % Claws

Question Number : 52 Question Id : 92775914862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofied & 9 f 3ifT & gRT ATd U 3= HIeH $1 Uied 82
Options :

1. % g (i)

2. ¢ H3 (Me7S)

3. % Twel (Few)

4. % TG (RToH)

Question Number : 53 Question Id : 92775914863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the normal body-temperature in terms of degree Centigrade?
Options :

1. % 34

2.9 37

3. % 27

4. % 40

Question Number : 53 Question Id : 92775914863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&I Ae & dauf & IRR &1 JEHT 1o 1 62

Options :
1. % 34
2.9 37




3. % 27
4. % 40

Question Number : 54 Question Id : 92775914864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When a person gets injured, which of the following cells in the blood leads to the formation of a clot that plugs the cut?
Options :

1. % Red Blood Cells

2. % White Blood Cells

3. ¥ Haemoglobin

4. ¥ Platelets

Question Number : 54 Question Id : 92775914864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

OId s fad g1ad 8l oIl 8, A de gU ®IF W Fafafad # 3 3ad & dH W SHIRAS1, T Yah! 91 gl 82
Options :

1. % e o PIRIBIY

2. % 4d I HIRBIY

3. % gHNdIe

4. e

Question Number : 55 Question Id : 92775914865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following river is also known as the ‘sorrow of Bihar’?
Options :

1. % Mahi

2. % Pennar

3. # Sabarmati



4. « Kosi

Question Number : 55 Question Id : 92775914865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad 7d & @ forg 7 1 fegR &1 Sifir=my (@) it Her o g2
Options :

1. % g

2. % TR

3. % HlETA!

4.« B

Question Number : 56 Question Id : 92775914866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following state is the Konkan coast located?
Options :

1. # Odisha

2. ¥ Mabharashtra

3. % Meghalaya

4. # Sikkim

Question Number : 56 Question Id : 92775914866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HichUl e Fafafed 7 3 forg 3o 7 fRua 82
Options :

1. % 3nfeam

2. ¥ HeRTY

3. % TR

4. % fyfFpH



Question Number : 57 Question Id : 92775914867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are the longitudinal sand ridges and crescent shaped sand dunes located in the extended Peninsular plateau called?
Options :

1. ¥ Barchans

2. % Arroyo

3. % Esker

4. % Ejecta blanket

Question Number : 57 Question Id : 92775914867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faRaTiRe T i UeR & fyd srjced ¥d & fesal SiR AR Xdid fesal &l 31 Hgd g2
Options :

1. ¥ SRDPH

2. % 3RMI

3. % T

4. % FolR wbC

Question Number : 58 Question Id : 92775914868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Saline soils are also known as

Options :

1. % Regur soil

2. # Cotton soil

3. % Tamak soil

4. ¥ Usara Soil

Question Number : 58 Question Id : 92775914868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

aaufta gt & & =0 H ot ST ST |
Options :

1. % TR foe

2. % DU B fig]

3. % qO% forgl

4. ¢ I faygt

Question Number : 59 Question Id : 92775914869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which language was the epic 'Silappadikaram' composed by a poet named Ilango?
Options :

1. % Malayalam

2. ¥ Tamil

3. ® Kannada

4. ¥ Telugu

Question Number : 59 Question Id : 92775914869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST S Hid GRT Id AgTHhTed Rduifes Ry foog HIST 7 T2
Options :

1. % HAICH

2. ¥ i

3. % DA

4. % 9]

Question Number : 60 Question Id : 92775914870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Who out of the following was a famous scholar who had prepared a grammar for Sanskrit?
Options :

1. # Patanjali

2. % Panini

3. # Gautama

4. % Shankaracharya

Question Number : 60 Question Id : 92775914870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRad & 9 oH te UG fagr A foregin I & e mesRor dar fasar um
Options :

1. % gdufer

2.« TIOML

3. % Ty

4. % AR

General Awareness2

Group Number : 4

Group Id : 927759536
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No



General Awareness2

Section Id : 927759572
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759709
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 92775914871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Since which year did Firuz Shah Tughlaq begin his reign?
Options :

1. % 1296

2. % 1320

3. % 1324

4. % 1351

Question Number : 61 Question Id : 92775914871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fOARIST RMME T - fohdd a8 Y S{UHT YRS R [T UT?
Options :

1. % 1296

2. % 1320

3. % 1324

4.+ 1351




Question Number : 62 Question Id : 92775914872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who was Todar Mal?

Options :

1. % Akbar's court-poet

2. ¥ Akbar's finance-minister

3. # Jahangir's historian

4. ¥ Jahangir's commander-in-chief

Question Number : 62 Question Id : 92775914872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A AT DI U2

Options :

1. % 3fHaR b GRAR b HId
2. ¢ HER & [ad-HAt

3. % TENIR & fageR

4. % JGNR & AU

Question Number : 63 Question Id : 92775914873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many delegates met for the first session of the Indian National Congress?
Options :

1. #® 65

2.9 72

3. % 80

4. % 85

Question Number : 63 Question Id : 92775914873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR IFTI HIUY b UUH T & forg fopa ufafifa fored 29
Options :

1. % 65

2.9 72

3. % 80

4, % 85

Question Number : 64 Question Id : 92775914874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As of October 2021, who out of the following is the Prime Minister of Spain?
Options :

1. # Justin Trudeau

2. % Emmanuel Macron

3. % Jair Bolsonaro

4. ¥ Pedro Sanchez Pérez-Castejon

Question Number : 64 Question Id : 92775914874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3fAEER 2021 TH YT THBRT & TR, Fafafad & 9 & W & gy 9= 82
Options :

1. ® SR Tl

2. % ZOIUA HopA

3. % SRR S IR]

4. ¢ U] A9 IRS-HREA[

Question Number : 65 Question Id : 92775914875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



For which of the following did Subramaniam won the Sahitya Academy Award 20207?
Options :

1. # The Great Indian Novel

2. ¥ When God is a Traveller

3. % Sri Bahubali

4. # An Era of Darkness

Question Number : 65 Question Id : 92775914875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad o ¥ forg & fo gemi-od 3 T1fed i TREPR 2020 ST
Options :

1. ® g UC &Y rad

2. ¢ TS 39 3f e

3. % 4 Sgadt

4. % U 31 STeb19

Question Number : 66 Question Id : 92775914876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best describes the Akademic Lomonosov?
Options :

1. # It is an earth-observer satellite of Russia

2. # Tt is a air-to-air ballistic missile

3. # It is the name of the scientific expedition team in Serbia

4. ¥ Tt is a floating nuclear power-plant

Question Number : 66 Question Id : 92775914876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Faffad & 9 o1 91 3hefiie AmIg & 9oy 33T 9U HRdl g2




Options :

1. ® g8 ®9 &1 Uh Jdl-0dded IuUe §

2. % U g1 Y 891 H AR HA arelt sfeifes fraga g
3. % gg gfdar # a9fe s cd H1Am 8

4.+ I U Rl AT URHAY] SHoll-T §

Question Number : 67 Question Id : 92775914877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following missions of NASA will study solar-storms?
Options :

1. #® Parker Solar Probe

2. % Solar Orbiter Mission

3. % SunRISE Mission

4. ® QOpportunity Mission

Question Number : 67 Question Id : 92775914877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ran & FofaRad iRl & § SF 91 GR-JBH ST 30 B2
Options :

1. % UIhR AR Uid

2. % HieR Hifdex =R

3. ¢ RIS oM

4. % NS firem

Question Number : 68 Question Id : 92775914878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year was the International Monetary Fund established?
Options :



1. * 1942
2. % 1943
3. ¥ 1944
4. % 1946

Question Number : 68 Question Id : 92775914878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIS el B fobd o yTfUre fobam w7 AT
Options :

1. % 1942

2. % 1943

3.9 1944

4. % 1946

Question Number : 69 Question Id : 92775914879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With which country did India participate in the military exercise SAMPRITI-IX?
Options :

1. #* Sri Lanka

2. # Afghanistan

3. ¥ Bhutan

4. ¥ Bangladesh

Question Number : 69 Question Id : 92775914879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR = I 3T Grgfar-1X H ot <=1 o |y ym feram

Options :
1. % 4t dpr



2. % BT

3. % Yo
4. ¢ QAT

Question Number : 70 Question Id : 92775914880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following states has topped the NITI Aayog's SDG India Index 2019?
Options :

1. ¥ Kerala

2. ® Gujarat

3. % Arunachal Pradesh

4. % Punjab

Question Number : 70 Question Id : 92775914880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofafed & 3 forg s 3 ifd o & Ta.8LSh. (SDG) SSa1 S8 2019 T =S RiH U1 foan 82
Options :

1. ¢ D

2. % IRId

3. % UM U

4. % YIS

Question Number : 71 Question Id : 92775914881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which city of India will get the country's first underwater Metro?
Options :

1. # Kochi

2. ¥ Kolkata



3. ¥ Mumbai
4. % Chennai

Question Number : 71 Question Id : 92775914881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA & ford ER P 4= P UHT 3garex Hel fHam
Options :

1. % Dll

2. ¢ HIABIC

3. % 4ag

4. % Tdg

Question Number : 72 Question Id : 92775914882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following states has launched the Shiv Bhojan Thali scheme recently?
Options :

1. % Madhya Pradesh

2. ¥ Mabharashtra

3. # Chhattisgarh

4. % Gujarat

Question Number : 72 Question Id : 92775914882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferied o 9 fore Isa = 71a g1 & R1a Yier UTef! Ao (& &1 82
Options :

1. % HHYGR

2. ¥ HERTY

3. % BNG



4. % TORIT

Question Number : 73 Question Id : 92775914883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following countries doesn't have a single, written Constitution, but rather a series of documents and decisions that, taken
collectively, are referred to as the constitution?

Options :

1. ®* Germany

2. % USA

3. % United kingdom
4. % Canada

Question Number : 73 Question Id : 92775914883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofafed 4 3 fora g3 ¥ toha, faRad wfdem™ =2 §, 9fch gxamael $iR Fofal 1 te saan 7, ol afe s U ¥ IfIe™ gl STl 572
Options :

1. % SR

2. % Tgad I 3RS

3. ¢ gARcE fhren

4. % PHlS]

Question Number : 74 Question Id : 92775914884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On which date was the Supreme Court of India established?
Options :

1. % January 26th, 1950

2. # January 29th, 1950

3. % January 30th, 1950

4. # January 31st, 1950



Question Number : 74 Question Id : 92775914884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA & gared ey & fod aRIE &1 §9197 T 417
Options :

1. ¢ 26 SFARY, 1950

2. % 29 SR, 1950

3. % 30 AR, 1950

4. % 31 SHAR, 1950

Question Number : 75 Question Id : 92775914885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did the Supreme Court rule that the office of governor of a state is not an employment under the Central government?
Options :

1. % In 1961

2. % In 1965

3. % In 1974

4. % In 1979

Question Number : 75 Question Id : 92775914885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ot S=aan <amarey 3 gg fAvfy fean i fasd Tsu & Isaure o1 Srafay og TWeR & 3¢ AR 81 82
Options :

1. % 1961 |

2. % 1965 H

3. % 1974H

4. ¥ 1979




Question Number : 76 Question Id : 92775914886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following articles of the Indian Constitution states that "There shall be a Council of Ministers with the Prime Minister at the head to
aid and advise the President"?

Options :
1. % 74(1)
2. % 74(2)
3. % 75(1)
4. % 75(2)

Question Number : 76 Question Id : 92775914886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRerg "fdum o FHafaRad 7 3 oH ¥ sigw=da | ST M1 ¢ fob Iyufd o1 Igradn 3R Ialg & & et #iAuRyg giv fordes uem,
TYTTHAT g2

Options :

1. ¥ 74(1)

2. % 74(2)

3. % 75(1)

4. % 75(2)

Question Number : 77 Question Id : 92775914887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the tenure of the election commissioners of India?
Options :

1. ¥ Six years or until they reach the age of sixty-five

2. # Six years or until they reach the age of sixty-three

3. # Five years or until they reach the age of sixty-three

4. # Five years or until they reach the age of sixty-five



Question Number : 77 Question Id : 92775914887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 S1F-91 YRd & A1 SHTa| &1 BB aidl 82
Options :

1. ¥ SE AN AT 65 TY DI A dH

2. % FEAY AT 63 TY DI Y dH

3. % Ui9 ay a1 63 99 1 3 dH

4. % Uig 98 AT 65 TY B 3T dH

Question Number : 78 Question Id : 92775914888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has won the 2020 'World Games Athlete of the Year' Award?
Options :

1. % P. V. Sindhu

2. % Rani Rampal

3. % Sania Mirza

4. % Mary Kom

Question Number : 78 Question Id : 92775914888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3E 2020 FT 'ITS T TUTIIT 31 & TR "TREHR il 82

Options :

1% d. . Ry

2.« JHT AT

Question Number : 79 Question Id : 92775914889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Where was the first Khelo India University Games held?
Options :

1. ¥ Odisha

2. # Punjab

3. # Haryana

4. # Gujarat

Question Number : 79 Question Id : 92775914889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ugdr Wall sfear gfaRidt T wel smaiford faar mar ur
Options :

1. ¥ 3fif&am

2. % UV§

3. % g

4. % ToRId

Question Number : 80 Question Id : 92775914890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which team has won the Under-19 Cricket World Cup 2020?
Options :

1. # India

2. # Australia

3. # England

4. ¥ Bangladesh

Question Number : 80 Question Id : 92775914890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fog &\ 7 37 -19 fobdbe fay U 2020 SfiaT 82
Options :

1. % YRd

2. # 3ffecfer

3. % gfs

4. ¢ QAT
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Question Number : 81 Question Id : 92775914891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The 9 digit number 47915838m is exactly divisible by 8 where m is a single digit whole number. Find the value of m.
Options :

1.% 0

2. % 8

3.¥ 4

4, % 2

Question Number : 81 Question Id : 92775914891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 3| B TP TBAT 47915838m, 8 W Juld: fUTST § S8 m Tehd S 1d Jui TS & | m HT AH J1d Hifod |
Options :

1.* 0

2.% 8

3.4

4. % 2

Question Number : 82 Question Id : 92775914892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The L.C.M. and H.C.F. of two numbers P and Q are 264 and 2 respectively. What could be the maximum possible value of P + Q?
Options :

1. ¥ 266

2. % 218

3. % 324

4. % 224

Question Number : 82 Question Id : 92775914892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& =3 p 3R Q HT TYTH AU 3R HewH THIUGAD SHHTT: 264 3R 2 B 1 P + Q BT ATAGIH JHTIT W o1 8 Yhell 82
Options :

1. ¥ 266

2. % 218

3. % 324

4, % 224

Question Number : 83 Question Id : 92775914893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From a certain city, buses start for 4 different places in every 10, 20, 25 & 40 minutes starting from 6:00 a.m. At what time, for the first time after
6:00 a.m. would all the buses start together again?

Options :

1. # 10:40 a.m.
2. % 11:00 a.m.
3.4 9:20 am.
4, % 8:50 a.m.

Question Number : 83 Question Id : 92775914893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T AT TeR q, U 10, 20, 25 3R 40 fFE H 4 STT-HTHT RIFT & 7T 98 o8 6:00 991 A IR= &I &1 I8 6:00 91 & §1G b g
AT ugeht IR 9 98 T 1y i 9 = g

Options :

|. % g 10:40 I
2. % a8 11 99
3.+ Jag 9: 20 T
4. % g 8: 50 &l

Question Number : 84 Question Id : 92775914894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Simplify:

B | =

(f)ﬂ +(64)~7 + (—32)5

Options :

17 1
1.¢v 8

172
8

2. %

=
8

3. %

B
4.% " 8

Question Number : 84 Question Id : 92775914894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Waﬂﬁm:
(f)ﬂ +(64)"

Options :
1
17 -
8

B | =

+(—32)5

1. ¥



Question Number : 85 Question Id : 92775914895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

— — —] + = == ’rhen what 1s the value of x?

Options :
1. % 7/8
2. % 8/7
3. % .8/7
4. -7/8

Question Number : 85 Question Id : 92775914895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
21‘
afe 22 -2+ 2 = Z @ x DI AFHIE?

Options :
1. % 7/8
2. % 8/7
3. % 8/7
4.9 -7/8



Question Number : 86 Question Id : 92775914896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between a discount of 35 percent and two successive discounts of 20 percent and 20 percent on a shirt was Rs. 18. What was the
marked price of the shirt?

Options :

1. % Rs. 1100
2. % Rs. 2000
3. ¥ Rs. 2200
4. ¥ Rs. 1800

Question Number : 86 Question Id : 92775914896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teh TC TR 35 UTAIRId Bl Ze quT 20 UId SR 20 TITI b1 <l shideh gl o sl ol 3iR 18 TUY UT| A DT SHfebed Hed 1 U1 2
Options :

1. % 1100 ¥ 9

2. ¥ 2000 FUY

3. % 2200 F U

4. ¥ 1800 &qU

Question Number : 87 Question Id : 92775914897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A single discount equivalent to three successive discounts of 5 percent, 10 percent and 20 percent is:
Options :

1. # 68.4 percent

2. % 35 percent

3. % 31.6 percent

4. % 28.4 percent



Question Number : 87 Question Id : 92775914897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 TIfa=Td, 10 UfI=IG 3R 20 UTA=Id & o S Fe & SRR U UHd Be 6:
Options :

1. % 68.4 Ufa=rd

2. % 35 gfa=rd

3. ¥ 31.6 Ufa=Id

4. % 28 4 gfa=rd

Question Number : 88 Question Id : 92775914898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average monthly salary of the workers in a workshop is Rs. 8,500. If the average monthly salary of the 7 technicians is Rs. 10,000 and
average monthly salary of the rest is Rs. 7,800, then total number of workers in the workshop are:

Options :
1. % 18
2. %20
3.¥ 22
4. % 24

Question Number : 88 Question Id : 92775914898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS JH T T YTHD! BT 3NTd ARSI 8500 T § | Tl 7 TH-NREA! BT 3id J1RIb I 10,000 T 3R A9 o7 G A1RYS
aa 7800 ©UT §, T GHRIT & Hof HolgR! o1 e &

Options :

1. %18

2. % 20

3.9 22

4. % 24




Question Number : 89 Question Id : 92775914899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average age of eleven cricket players is 20 years. If the age of the coach is also included, the average age increases by 10 percent. The age of
the coach is :

Options :

1. % 48 years
2. ¥ 44 years
3. ® 40 years
4. % 36 years

Question Number : 89 Question Id : 92775914899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRE fhdre fRaafSal @t Siivd Mg 20 98 g1 Afe Hra o1 3myg o <A 1 SNt ], < 37Id 311 10 Tia=Id §¢ Sl § [ 1d &1 31
Options :

1. % 4399

2. 4479

3. % 4099

4. % 369N

Question Number : 90 Question Id : 92775914900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A book consists of 25 pages each of 60 lines with 75 characters on each line. If the number of lines is reduced to 50 but the number of characters
is increased to 90 per line, what is the percentage change in the number of pages?

Options :

1. # +10 percent
2. # +5 percent
3. % 0 percent
4. % -10 percent



Question Number : 90 Question Id : 92775914900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teh Qs H 25 UF ©, Forich Ucdeh Y H 60 Ufekial 3R Udeh Ufeki # 75 a0l & | Ife Ufckidl 1 T &1 e 50 WAfch1 qUT b1 AT
FIHR 90 Ul tfdd = &} STt &, af g8t ot Tvean | ufawra uRad= fara g2

Options :

1. % +10 Ufc=rd

2. % 45 gfaerd

3. ¢ 0 Ufa=rd

4. % 10 gfa=rd

Question Number : 91 Question Id : 92775914901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

After receiving two successive raises, Virendra’s salary became equal to 15/8 times of his initial salary. By how much percent was the salary
raised the first time if the second raise was twice as high (in percent) as the first?

Options :

1. # 15 percent
2. # 20 percent
3. % 25 percent
4. # 30 percent

Question Number : 91 Question Id : 92775914901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR &l §R gfs & 918, IR BT Id- I¥db URINSD dd b1 15/8 AT & k16 81 77| Uil aR | 9= H fava Ufcrrid o1 9fS g afe
it gfs, ugdll 9fg &t Qv (ufa=ia 7 ) ot 2

Options :

1. % 15 gfard
2. % 20 Ufard
3. ¢ 25 Ufa=rd
4. % 30 gfaerd




Question Number : 92 Question Id : 92775914902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The price of copper was raised by 10 percent in India. The consumption of the copper was increased from 200 tonnes to 225 tonnes. By how
much percent was the expenditure on the copper rise in the Indian economy?

Options :

1. # 24.25 percent
2. ® 22.5 percent
3. % 23.75 percent
4. % 26.75 percent

Question Number : 92 Question Id : 92775914902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRA § did &1 H1Ed T 10 U< &1 gl §5 | A &1 @0d 200 T J TGTHR 225 T 61 Ts | HRATT SIHaRIT 8 did o o9d § fdva ufa=rd
1 IS g2

Options :

1. % 2425 yfa=rd
2. % 22 5 gfaerd
3. ¢ 23.75 gfa=rd
4. % 26,75 Ufard

Question Number : 93 Question Id : 92775914903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an examination, Ranveer scored 65 percent in English and 82 percent in Hindi both having maximum marks of 100. What is the minimum
percent he should score in Science which has maximum marks of 50 marks,if he aims to getting 78 percent marks overall?

Options :

1. # 94 percent
2. % 92 percent
3. % 98 percent



4. ¥ 96 percent

Question Number : 93 Question Id : 92775914903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP UIeT H, J0MAR = S & 65 Ui ofR &l & 82 Ufa=rd oids urd g, gt & Sif¥ddd 100 3 31 39 fagm & *gad faram ufa=rd
R, Foa® S1fay 50 3ieF &, Al ITHT AT Hot TR 78 Ul=Id 3fch U HA1 /2

Options :

1. % 94 gfrd

2. % 92 gfa=rd

3. % 9g Uf=rd

4. ¥ 96 Ufaerd

Question Number : 94 Question Id : 92775914904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tuhin sold a machine at Rs. 9600. Had he sold it at 8 percent less amount, he would have obtained a profit of 10.4 percent. What is the cost price
of the machine?

Options :

1. ¥ Rs. 8000
2. % Rs. 7500
3. ¥ Rs. 8500
4. % Rs. 9000

Question Number : 94 Question Id : 92775914904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g%%fr%oogqﬁﬁwmﬂ:ré%ﬁl i I 3 8 UfA=Td & RN TR <=1 BIT, TS 10.4 WcTRId BT ATH U gial | TR 1 arTd e
152
Options :

1. ¢ 8000 T
2. % 7500 T



3, % 8500 ™UY
4. % 9000 =UY

Question Number : 95 Question Id : 92775914905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person loses Rs. 20 by selling some pens at the rate of Rs. 3 per pen and gains Rs. 30, if he sells them at Rs. 3.25 per pen. What is the number
of pen sold by him?

Options :
1. * 100
2.9 200
3. % 120
4. % 240

Question Number : 95 Question Id : 92775914905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS A B P& U9 3 F0U U U7 B &R ¥ 994 W 20 FUI D1 g1 8l § AR Afe I8 I 3.25 TG U U i &2 I S9aT § al 39 30
U BT AT Bl § | 3D GRIT it 7T U Bt ST [t 82

Options :

1. * 100

2.9 200

3. % 120

4. = 240

Question Number : 96 Question Id : 92775914906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper purchased some books from a publication worth Rs. 2250. Because of some reason, he had to sell 2/5 part of the book at a loss of
15 percent. On which profit should he sell his rest of the books, so that he gets neither profit nor loss?

Options :
1. ¥ 10 percent



2. * 15 percent
3. % 12.5 percent
4. % 7.5 percent

Question Number : 96 Question Id : 92775914906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tdh GHTFGR A Th UHIRM Y 2250 ©0 1 $ fbard T | fhdl HRUIY, IV gD b 2/5 HFT D1 15 TR D1 81 TR §9-1 uLT|
o ATy TR I 3T T1h! fhdTe Sa-l 1y, difds 39 A1 af a1y B 3R A1 81 gT?

Options :

1. ¢ 10 Ufa=rd

2. % 15 gfawd

3. % 125 gfawrd
4. % 75 gfaerd

Question Number : 97 Question Id : 92775914907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The income and expenditure of Amar, Bhusan and Chandan are in the ratio of 4 : 5: 7 and 3 : 4 : 5 respectively. If Amar saves 10 percent of his
income, then what will be the ratio of their savings?

Options :
1. % 2:
2. % 3
3.2
4. % 5:

(@) N e S SN

- 10

Question Number : 97 Question Id : 92775914907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3R, YNUT 3R G B 3ATT 3R T HH: 4: 5: 7 3R 3: 4: 5P SUTT A €| (S 3R YT 3T BT 10 U= ST 8, A 31 S2Id BT
(YT T g

Options :




1. % 2:
2. % 3
3.2
4. % 5.

AN = BN =
DN D W

—_
()

Question Number : 98 Question Id : 92775914908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some amount is divided among A, B, & C in the ratio of n : 2n - 1 : n + 3. The share of C exceeds that of A by Rs. 150 and that of B by Rs. 50.
Find the value of share of A.

Options :

1. % Rs. 200
2. % Rs. 150
3. # Rs. 300
4. % Rs. 100

Question Number : 98 Question Id : 92775914908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FO AR DBIA, B, IR CF A n: 2n- 1: n+ 3 P UM & el TT | C BT RRIT A T 150 FUT 3R B F 50 BUT e 51 A F & 1044
1A BT

Options :

1. % 200 >49UQ

2. % 150 %00

3. % 300 >0

4. % 100U

Question Number : 99 Question Id : 92775914909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If 2 : (1 + \@) :: /6 : %, then find the value of x.



Options :

L% 1+v3
V31
v V3+3

o« 23

Question Number : 99 Question Id : 92775914909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

giev2 : (14 v3) 2 V6 : x, Al x DI HH T DI |

Options :

L %143
)« VE-1

3‘¢\/§+3

o« 23

Question Number : 100 Question Id : 92775914910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two vessels contain milk solutions. In the first vessel the percentage of milk is 60 percent and in the second vessel the percentage of milk is 30
percent. If a person mixes 14 liters of milk solutions of the first vessel to the 16 liters of milk solutions of the second vessel, then what will be the



percentage of milk in the new mixture?
Options :

1. % 48.5 percent

2. % 44 percent

3. # 39 percent

4. % 41 percent

Question Number : 100 Question Id : 92775914910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A I AU P O ¢ U Fa- A g T Ufa=rd 60 Tfa=rd 3R g o1+ § g o1 ufa=rd 30 ufawid 81 afe ver aufad ugad S & 14
TR Y H O b IR I P 16 Tex gY & O H ferrar 8, d e fiysyor & g o1 wfawra sar geme

Options :

1. % 485 gfd<d
2. ¢ 44 UfaRId
3. % 39 UfcRId
4. % 41 gid=d

Arithmetic Ability2
Group Number : 6
Group Id : 927759538
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



Arithmetic Ability2

Section Id : 927759574
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759711
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 92775914911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Neelam borrowed some money on simple interest at the rate of 6 percent per annum for the first 2 years, at the rate of 9 percent per annum for the
next 3 years and at the rate of 13 percent per annum for the period beyond 5 years. She pays a total interest of Rs. 3900 at the end of 8 years.
How much money did she borrow?

Options :

1. * Rs. 4000
2. % Rs. 9000
3. % Rs. 6000
4. ¥ Rs. 5000

Question Number : 101 Question Id : 92775914911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FreH A Fo 00 ugd 2 I8 & o 6 Ufa=rd ufd av |, 3fTar 3 auf & forg o ufawra ufdad $ik 5 a9 ¥ 3if¥e &1 srafd & o 13 ufawrd
ey YR S B &R A SUR o 1 98 8 T8 & 3fd H 3900 T 0 T Hdl TS bl ¢ | 39 b 0 IR forg 2
Options :

1. ® 4000 T4
2. % 9000 TYY




3. % 6000 =0T
4.+ 5000 ®UY

Question Number : 102 Question Id : 92775914912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seema had Rs. 8000 with her. Out of this money, she lent some money to Akshay for 2 years at 15 percent per annum on simple interest and
remaining money to Brijesh for an equal number of years at the rate of 10 percent per annum on simple interset. After 2 years if Akshay paid her
Rs. 100 more interest than Brijesh, then what was the amount of money lent to Akshay?

Options :

1. ¥ Rs. 3400
2. % Rs. 4100
3. % Rs. 3700
4. % Rs. 4200

Question Number : 102 Question Id : 92775914912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 & U 8000 39 & | 3T AR H T, IT 3T 1 15 U= Ufcay FLRU SO &t ax § 2 98 & il 8 0¥ IR AU SR qoe ay
o foTE QY =RITRT For=T 1 10 UfI=Ia Ufday AR 7ol &1 &R 9 T af 2 98 91 316 = 3 FoIT I 100 39 SIT6] &19f [T, at
3{& D1 JYR &1 5 I H fbat &t

Options :

1. ¢ 3400 04
2. % 4100 9T
3. % 3700 ¥9Y
4. % 4200 307

Question Number : 103 Question Id : 92775914913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If Rs. 5000 amounts to Rs. 5832 in two years at certain rate of compound interest compounded annually, then find the rate of interest per annum.
Options :



1. # 12 percent
2. % 5 percent
3. % 8 percent
4. % 10 percent

Question Number : 103 Question Id : 92775914913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe Iehgfg STl P1 1ftics 3R T &1 I8t § U IR 5000 T F 5832 T 8 ST &, T Ul sarof o F1d BT
Options :

1. % 12 gfd=rd

2. % 5Yfaerd

3. ¢ g Ufd=rd

4. % 10 yfa=rd

Question Number : 104 Question Id : 92775914914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Manoj and Satish walk from A to B at speed of 18 km/hr and 24 km/hr respectively. Satish reaches B and immediately turns back and meet to
Manoj at P. If the distance between A and B is 336 km, then what is the distance from A to P?

Options :

1. ¥ 274 km
2. % 288 km
3. % 252 km
4. % 296 km

Question Number : 104 Question Id : 92775914914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3R =T A T B d% HART: 18 fhHt / €et 3R 24 fheit/ der &1 71 ¥ 9dd & | TR B dF Ugadl & SR qed a1y GSHx JIol 4 P
R AAA g1 afe A IR B & S B g 336 THH R, NA TP B A RTR?

Options :




1. % 274 fopuit
2. ¢ 288 fopdt
3. % 252 fdl
4. % 296 fout

Question Number : 105 Question Id : 92775914915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A car covers a certain distance at a certain speed and a cyclist covers one- fourth of this distance in thrice the time. If the car takes 30 minutes to
cover the distance, find the time the cyclist takes to cover the same distance.

Options :

1. % 5 hours
2. # 6.5 hours
3. % 3.5 hours
4. ¥ 6 hours

Question Number : 105 Question Id : 92775914915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HR Ue FHId 1 ¥ T i g8 79 FRc1 € 3R Ue A3 d a1 4 g1l & U dI1UTS & diF - T80 § 9 &l ¢ | G HR &I
&8 T B A 30 fFe &1 T0 AT &, o A1Sfhd a1ad &1 Ia-1 a1 gl ad $HR H T aTel T8 J1d Piforg |

Options :

|. % 59¢

2. % 6.5%C

3. % 3.5%C

4.¢ 6HC

Question Number : 106 Question Id : 92775914916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A car has to cover a distance of 300 km with the speed of 40 kmph. Due to the heavy traffic, it covered the half of the distance in 3/5th of the
total time. What should be the increase in its speed for the remaining distance so that it reached on time?



Options :
4
ZOE kmph

1. =

» % 10 kmph

3 # 15 kmph

162 kmph
4.4 3

Question Number : 106 Question Id : 92775914916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH HR I 40 T Ui € 1 71 F 300 T o1 g8 T HRAT &1 URY S & BRI, I8 1 THT & 3/5 U J0d H 31eft gt a7 Fwan
21 OV g8 B J HRA & fod 39 TR H fbat gfg g1 AT difes I8 I8 R Uga?

Options :

. zog et/ et

l.

, « 10 fHI/deT
s« 15 fhdl/Her

162 fopHi/deT
4. 3

Question Number : 107 Question Id : 92775914917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A swimming pool has 3 drain pipes P1, P2 and P3. The first two pipes P1 and P2, operating simultaneously, can empty the pool in half the time
that P3 takes alone to empty it. The ratio of time taken by P1 alone and P2 alone to empty the pool is 1 : 2. Together all the three pipes take 4
hours to empty the pool. What is the time taken by pipe P1 alone to empty the pool?

Options :

1. ¥ 9 hours
2. % 6 hours
3. # 12 hours

4. * 7 hours

Question Number : 107 Question Id : 92775914917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ue fftiT g o 3 e urgy p1, P2 3R p3 &1 USH &1 UIZY P1 3R P2 Teh 1Y HTH HRd §U, T B 3118 THT T el R qhd & o
P3 3 el A P oY Shal AT 8 | Y b1 @l R 3 fe7u 3t P1 3R 31Shdl P2 R ol T T4 1 SiUrd 1:2 §1 It i gy
fIcTepR Odl Y WMl R H 4 B A &1 Tl b1 WTet bR b [T 3fhdl UTY P1 gRT fopa1 T foran ST g 2

Options :

1.¥ 9%¢

2. % gHC

3. % [26cC

4. % 79

Question Number : 108 Question Id : 92775914918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four persons A, B, C & D make 512 chairs in 8 hours. B is twice as efficient as A. D is 25 percent less efficient than A but is three times as
efficient as C. How many chairs did B makes in 8 hours?

Options :
1. % 128
2. % 186
3. ¥ 256
4. % 216



Question Number : 108 Question Id : 92775914918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR AT A, B, C 3R D, $ 8¢ T 512 FRIGT S & | B, A W ST FRGA g | D, A B g1 H 25 UfA=d HH HRAGIE g, Al C BT
T FRiGRE g1 B A 8 °e A fha-t piRiar s

Options :

1. % 128

2. % 186

3. ¥ 256

4. % 216

Question Number : 109 Question Id : 92775914919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

250 workers can do a piece of work in 30 days. 250 workers worked for 15 days and to finish the work early, 125 more workers are employed
after 15 days. What is the total number of days they will require to complete the work?

Options :

1. % 28 days
2. % 26 days
3. % 25 days
4. % 24 days

Question Number : 109 Question Id : 92775914919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

250 HHAR Tt HTH BI 30 feAl B AR Thd § 1 250 YTHDT A 15 &1 b B [T 3R B e T B & AW 125 3R BB Bl 15
{1 o 91G HTH IR T 17| BT DI GRT HRA & [0U 6 $dl (oo 1611 ] SHaIDHT I

Options :

1. # 28 faq

2. % 26 fe

3. ¢ 25 A




4. % 2429

Question Number : 110 Question Id : 92775914920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an office there are 5 working days in a week and for each day the working hours are 8. A man gets Rs. 50 per hour for regular time and Rs. 60
per hour for overtime. If he earns Rs. 10,100 in 4 weeks, then how many total hours does he work for?

Options :
1. ¥ 195
2. % 180
3. % 215
4. % 240

Question Number : 110 Question Id : 92775914920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS ST H Th I8 H 5 B G 8d & 3R TS feT 1 & 8 62 8ld & | U 3iTeH! o1 Fufira a79 & e 50 303 ufd 9 8k
3ffaReTsH & il 60 ¥ Tfd ©e firerd &1 3 a8 4 w8 | 10,100 U4 HATA 5, ) 98 $d [ha- de HTH DRl 62

Options :

1. 195

2. % 180

3. % 215

4. % 240

Question Number : 111 Question Id : 92775914921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A tank of dimensions 10 x 10 x 10 (in cms) is half filled with water. A ball of radius 5.25 cm is dropped into the tank. How much water will
flows out of the tank?

Options :
1. # 126.475 cubic cm
2. % 96.175 cubic cm



3.4 106.375 cubic cm
4. % 56.875 cubic cm

Question Number : 111 Question Id : 92775914921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%OX 10 x 10 (I T ST &1 b UM § 31T WRT 3 81 5.25 A A &1 T i 1 ¢ | fRT foan oiran g1 <o ¥ fopan it ameR
?

Options :

1. % 126.475 9 AT
2. % 96.175 I 9!
3. 106.375 9 94
4. % 56,8759 94!

Question Number : 112 Question Id : 92775914922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A solid sphere of radius 30 cm is melted and small spheres are made of radius 30/8 cm.How many such spheres can be made?
Options :

1. % 328

2.¥ 512

3. % 264

4, % 478

Question Number : 112 Question Id : 92775914922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30 T o1 T T 31 el FUoaman SiTdr § 3R 30/8 JHT a1 & B el bl S ST 8 | U fbd M 991E S Tohd 82
Options :
1. % 328
2. ¢ 512



3. % 264
4. % 478

Question Number : 113 Question Id : 92775914923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the width of a rectangular field is increases by 4 feet, area also increases by 32 square feet, find the value of its length.
Options :

1. ¥ 8 feet

2. % 11 feet

3. % 9 feet

4. % 10 feet

Question Number : 113 Question Id : 92775914923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T TIATHR &F D1 AISTs 4 e §¢ okl §, o) 8ahd o} 32 ¥ e §¢ II1dl &, 3! daTs &I JF J1d il |
Options :

1.+ 8%cC

2. % 11 %c

3. % 9Tc

4. % 10 c

Question Number : 114 Question Id : 92775914924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four goats are tethered at four corners of a square plot of side 14 m with a rope of 7 m. There is a small circular pond of area 15 square metre at
the centre. What is the ungrazed area?

Options :

1. % 22sqm
2. % 42sqm
3. % 34sqm



4. 27sqm

Question Number : 114 Question Id : 92775914924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR IH AT BT 7 HeX BT TR & 1Y 14 TR AHR Yoll & &S &b IR B UR ST STl § | & TR 15 T HIex &6 d HI Th BIeT
MATHR arard g | f9H T w1 8aha a1 82

Options :

1. % 22
2. % g dt
3. % 34 At
4. 27

Question Number : 115 Question Id : 92775914925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given table shows the number of bottles of mineral water of different brands sold in a city during the five years.

No. of bottles of mineral water Sold
1995 1996 1997 1998 1999
Bisleri 45.000 | 38,000 | 36,000 | 42,000 | 40,000
Kinley 27.000 | 28.000 | 43.000 | 32,000 | 47.000
Aquafina 31.000 | 20.000 | 35,000 | 40,000 | 50,000
Himalayan 50,000 | 25,000 | 22,000 | 30,000 | 25,000
. 35,725 | 38,625 | 33,275 | 44,375 | 26,000

The average annual sale of which brand is the lowest?
Options :

1. ¥ Himalayan

2. % Bailey

3. # Kinley



4. ® Aquafina

Question Number : 115 Question Id : 92775914925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 7S arfererT Uia a8 & SR U WeR T ot 71 A siiel &1 feRe urht & Sida) &) 9= &) g2 2

Tt T BT 9 @ ager @ gedr
1995 1956 1997 1968 1969

faaard 45,000 | 38,000 | 36,000 | 42,000 | 40,000
m 27,000 | 28,000 | 43,000 (| 32,000 | 47,000
TFAIBAT 31.000 | 20,000 | 35,000 | 40,000 | 50.000
m 50,000 | 25,000 | 22,000 | 30,000 | 25.000
T 35,725 | 38,625 | 33,275 | 44,375 | 26,000

5 s o1 3iiga arfties 9! 9o HH 82

Options :

1. ¢ feHread

2. % §ant

3. % ool

4. % THIPBAT

Question Number : 116 Question Id : 92775914926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given table shows the number of bottles of mineral water of different brands sold in a city during the five years.



No. of bottles of mineral water Sold
1995 1996 1997 1998 1999
Bisleri 45.000 | 38,000 | 36,000 | 42,000 | 40,000
Kinlev 27.000 | 28.000 | 43.000 | 32,000 | 47.000
Aquafina 31.000 | 20.000 | 35,000 | 40,000 | 50,000
Himalayan 50,000 | 25,000 | 22,000 | 30,000 | 25,000
. 35,725 | 38,625 | 33,275 | 44,375 | 26,000

The sale of “Bisleri” in 1997 is how much percent more than the sale of “Himalayan™ in 1998 ?
Options :

1. % 32 percent

2. % 40 percent

3. ¥ 20 percent

4. ® 16 percent

Question Number : 116 Question Id : 92775914926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3t 175 d1feresT Ui 9N & SR Ueh Wk | ot TS fafie siet ot fimRa Uit &1 Siaal ot I &l <xiid g

adl Il A=Te 9 Y S ga Y gEdn
1995 | 1996 | 1997 | 1998 | 1999
S 45,000 | 38,000 | 36,000 [ 42,000 | 40,000
e 27.000 | 28.000 | 43,000 | 32.000 | 47.000
TFATREAT 31,000 | 20,000 | 35,000 | 40,000 | 50.000
AT 50,000 | 25,000 | 22.000 | 30,000 | 25,000
= 35.725 | 38.625 | 33.275 | 44375 | 26.000

1997 H "fogei &1 {9t 1998 H rferrera & st ¥ fordmn ufa=ma sifdie g2

Options :



1. % 32 gfawd
2. % 40 Ufard
3. ¢ 20 Ufaerd
4. % 16 Ufa=rd

Question Number : 117 Question Id : 92775914927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Given below are two pie charts, first pie chart shows the percentage distribution of total students in five classes in a school and second pie chart
shows the percentage distribution of boys in these five classes.

Total students = 2200 Boys = 1300

VIl
12%

VIl
12%

What is the total number of girls in classes V, VIII and IX together ?
Options :
1. % 680
2. % 412
3. % 676
4. 754

Question Number : 117 Question Id : 92775914927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 a1 ure a1 fau T §, ugdn TS a1 Uk X d & Ui el H $d S o Uia=id fadRu B g=iidl § 3R gERT UTS 91E 8 Ui st o
TS| P Ufcrerd faarur &) gufar g1




PABH=2200 TSP = 1300

VI
12%
W
12%

HETV, VI 3R X H T Y TSihal & S T [ g2
Options :
1. % 680
2. % 412
3. % 676
4. 754

Question Number : 118 Question Id : 92775914928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Given below are two pie charts, first pie chart shows the percentage distribution of total students in five classes in a school and second pie chart
shows the percentage distribution of boys in these five classes.

Total students = 2200 Boys = 1300

VIl
12%
VIl
12%

What is the ratio of the number of boys and total students in IX class respectively?
Options :




1. # 250:272
2. % 223:436
3. ¥ 104:275
4. % 520:230

Question Number : 118 Question Id : 92775914928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 250:272

2. % 223:436

3. ¢ 104:275

4. % 520:230

Question Number : 119 Question Id : 92775914929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following line graph shows the percentages of markup on cost price and discount offered on marked price of five different articles sold by a
shopkeeper.



120

100
100

80

B markup %

B discount %

A B C D E

Selling price of article B is Rs. 382.5 and the marked prices of articles B and E are the same. What is the average selling price of both the
articles?

Options :

1. # Rs.412.25
2. ¥ Rs. 348.75
3. % Rs. 325.25
4. % Rs.356.75

Question Number : 119 Question Id : 92775914929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 120 Question Id : 92775914930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following line graph shows the percentages of markup on cost price and discount offered on marked price of six different articles sold by a
shopkeeper.
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80

B markup %

B discount %

A B C D E

If the cost price of all articles are equal, then what is the ratio between the marked value of article C and the selling price of article D?
Options :

1. % 45:23

2. % 9:15

3. % 27:23

4. ¥ 29:27

Question Number : 120 Question Id : 92775914930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 45:23
2. % 9:15
3. % 27:23
4. ¥ 29:27
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General English1

Section Id : 927759575
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759712
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 92775914931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

She wants to share her experience with you though you can be benefited from it.
Options :

1. * She wants to share her

2. ¥ experience with you though

3. * you can be benefited from it.

4. * No Error

Question Number : 121 Question Id : 92775914931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

She wants to share her experience with you though you can be benefited from it.



Options :

1. # She wants to share her

2. ¥ experience with you though
3. % you can be benefited from it.
4. ® No Error

Question Number : 122 Question Id : 92775914932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

The top executive of a cruise liner has issued a humanitarian plea for the world not to turn its back to thousands of passengers stranded at sea.
Options :

1. # The top executive of a cruise liner has issued

2. % 3 humanitarian plea for the world not to

3. % turn its back to thousands of passengers stranded at sea.

4. ® No Error

Question Number : 122 Question Id : 92775914932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

The top executive of a cruise liner has issued a humanitarian plea for the world not to turn its back to thousands of passengers stranded at sea.
Options :

1. #® The top executive of a cruise liner has issued

2. % 3 humanitarian plea for the world not to

3. ¢ turn its back to thousands of passengers stranded at sea.

4. ® No Error

Question Number : 123 Question Id : 92775914933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Our team walked down a narrow passage off the back of a beautiful building.
Options :

1. # Our team walked down

2. ¥ a narrow passage off the back

3. # of a beautiful building.

4. ¥ No Error

Question Number : 123 Question Id : 92775914933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Our team walked down a narrow passage off the back of a beautiful building.
Options :

1. # Our team walked down

2. % anarrow passage off the back

3. # of a beautiful building.

4. % No Error

Question Number : 124 Question Id : 92775914934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

The central government must act, lest the problem of child poverty grows worse.
Options :

1. # The central government must



2. # act, lest the problem of
3. % child poverty grows worse.
4. % No Error

Question Number : 124 Question Id : 92775914934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

The central government must act, lest the problem of child poverty grows worse.
Options :

1. # The central government must

2. # act, lest the problem of

3. % child poverty grows worse.

4. % No Error

Question Number : 125 Question Id : 92775914935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Don’t your parents mind you staying out so late?
Options :

1. # Don’t your

2. # parents mind you

3. % staying out so late?

4. ¥ No Error

Question Number : 125 Question Id : 92775914935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Don’t your parents mind you staying out so late?
Options :

1. * Don’t your

2. % parents mind you

3. # staying out so late?

4. ¥ No Error

Question Number : 126 Question Id : 92775914936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

The chances of people making a living without skills is reduced all the time.
Options :

1. ¥ are reducing

2. # isreducing

3. ¥ was reduced

4. ¥ No improvement

Question Number : 126 Question Id : 92775914936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

The chances of people making a living without skills is reduced all the time.
Options :

1. ¥ are reducing

2. # isreducing

3. # was reduced



4. ¥ No improvement

Question Number : 127 Question Id : 92775914937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

He's a very strong personality, for he talking to people as human beings and he's very honest.
Options :

1. # since he talked to

2. % but he talks to

3. % as he talks at

4. ¥ No improvement

Question Number : 127 Question Id : 92775914937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

He's a very strong personality, for he talking to people as human beings and he's very honest.
Options :

1. # since he talked to

2. ¥ but he talks to

3. % as he talks at

4. ¥ No improvement

Question Number : 128 Question Id : 92775914938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.



Bali's living conditions have now improved as for the increase in the tourism industry.

Options :

1. # since for the increase
2. # asto the increase

3. % due to the increase

4. ¥ No improvement

Question Number : 128 Question Id : 92775914938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

Bali's living conditions have now improved as for the increase in the tourism industry.

Options :

1. * since for the increase
2. % as to the increase

3. % due to the increase

4. % No improvement

Question Number : 129 Question Id : 92775914939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

It is said that with fading age, the physical and mental faculties do not remain as strong.
Options :

1. % does not remain as strong

2. % do not remains so strong

3. # does not remains as strong

4. ¥ No improvement



Question Number : 129 Question Id : 92775914939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

It is said that with fading age, the physical and mental faculties do not remain as strong,
Options :

1. # does not remain as strong

2. % do not remains so strong

3. # does not remains as strong

4. ¥ No improvement

Question Number : 130 Question Id : 92775914940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

His grandfather finds a tiny tiger-cub in the forest and brought his home.
Options :

1. # bringing home
2. # has bring home
3. ¥ brings him home

4. % No substitution required

Question Number : 130 Question Id : 92775914940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

His grandfather finds a tiny tiger-cub in the forest and brought his home.



Options :

1. # bringing home
2. % has bring home
3. ¥ brings him home

4. # No substitution required

Question Number : 131 Question Id : 92775914941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The healing takes place on emotional level, a mental level, and on a physical level.
Options :

1. ¥ an

2. % a

3. % the

4. ¥ No article required

Question Number : 131 Question Id : 92775914941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The healing takes place on emotional level, a mental level, and on a physical level.
Options :

1. ¥ an

2. % a

3. % the

4. % No article required

Question Number : 132 Question Id : 92775914942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to fill in the blank.

If the pain is severe, or if your eyesight gets worse, you contact your consultant straightway.
Options :

1. % would

2. % should

3. % will

4. % shall

Question Number : 132 Question Id : 92775914942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

If the pain is severe, or if your eyesight gets worse, you contact your consultant straightway.
Options :

1. # would

2. ¥ should

3. % will

4. % ghall

Question Number : 133 Question Id : 92775914943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

One cannot comprehend the future unless one understands and one's own people.
Options :

1. % herself

2. # himself

3. ¥ oneself

4. % ijtself



Question Number : 133 Question Id : 92775914943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

One cannot comprehend the future unless one understands and one's own people.
Options :

1. # herself

2. * himself

3. ¥ oneself

4. % jtself

Question Number : 134 Question Id : 92775914944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

There was a notice the door saying that due to technical issues the shop will be closed indefinitely.
Options :

1. ®* in

2. % with

3. % by

4.+ on

Question Number : 134 Question Id : 92775914944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

There was a notice the door saying that due to technical issues the shop will be closed indefinitely.
Options :
1. ® in

2. % with



3. % by
4. % on

Question Number : 135 Question Id : 92775914945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Mine experts said that drilling, slow, was still the best way to reach the men.
Options :

1. ¥ though

2. % since

3. # either

4. # hardly

Question Number : 135 Question Id : 92775914945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Mine experts said that drilling, slow, was still the best way to reach the men.
Options :

1. ¥ though

2. % since

3. % either

4. % hardly

Question Number : 136 Question Id : 92775914946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. available to its vast population



B. given the shabby health infrastructure
C. nationwide lockdown is the only option for India,
D. trying to break the chain of virus transmission with a

Options :

1. % DBAC
2. ¥ DCBA
3. ¥ DACB
4. % DABC

Question Number : 136 Question Id : 92775914946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. available to its vast population

B. given the shabby health infrastructure

C. nationwide lockdown is the only option for India,

D. trying to break the chain of virus transmission with a

Options :

1. % DBAC
2. ¥ DCBA
3. ¥ DACB
4. % DABC

Question Number : 137 Question Id : 92775914947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. with the coronavirus scare we seem to
B. have gone back to a pace of life

C. that belongs to another generation

D. and another time.

Options :

1. ¥ ACBD



2. % DBAC
3. ¥ ABCD
4. % CDAB

Question Number : 137 Question Id : 92775914947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. with the coronavirus scare we seem to
B. have gone back to a pace of life

C. that belongs to another generation

D. and another time.

Options :

1. ¥ ACBD
2. % DBAC
3. ¥ ABCD
4. ¥ CDAB

Question Number : 138 Question Id : 92775914948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. He may survive the virus and live, but he will die politically.

B. Nobody knows how long the coronavirus pandemic will last.

C. Predictions seven months in advance are foolhardy.

D. But one thing is certain: it has killed Donald Trump’s chances of being re-elected as US President.

Options :

1. ¥ BCAD
2. ¥ BADC
3. ¥ BDCA
4. ¥ BDAC



Question Number : 138 Question Id : 92775914948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. He may survive the virus and live, but he will die politically.

B. Nobody knows how long the coronavirus pandemic will last.

C. Predictions seven months in advance are foolhardy.

D. But one thing is certain: it has killed Donald Trump’s chances of being re-elected as US President.

Options :

1. ¥ BCAD
2. % BADC
3. ¥ BDCA
4. ¥ BDAC

Question Number : 139 Question Id : 92775914949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. There’s little point in wasting column space arguing why the offer and acceptance of such post-retirement jobs annihilate judicial
independence

B. He’s the latest in a long list of judicial retirees to have been offered sinecures by governments.

C. True to tradition, he has accepted the nomination without demur.

D. The nomination of Ranjan Gogoi to the Rajya Sabha should come as no surprise.

Options :

1. ¥ DBCA
2. % DBAC
3. * DCAB
4. % DCBA

Question Number : 139 Question Id : 92775914949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Arrange the jumbled sentences to make a meaningful paragraph.

A. There’s little point in wasting column space arguing why the offer and acceptance of such post-retirement jobs annihilate judicial
independence

B. He’s the latest in a long list of judicial retirees to have been offered sinecures by governments.

C. True to tradition, he has accepted the nomination without demur.

D. The nomination of Ranjan Gogoi to the Rajya Sabha should come as no surprise.

Options :

1. ¥ DBCA
2. % DBAC
3. ¥ DCAB
4. % DCBA

Question Number : 140 Question Id : 92775914950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Oppressed
Options :

1. #* Injured

2. ¥ Maltreated
3. % Disheartened

4, % Pessimistic

Question Number : 140 Question Id : 92775914950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Oppressed
Options :

1. % Injured

2. ¥ Maltreated



3. # Disheartened

4. % Pessimistic
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Break time :
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Question Number : 141 Question Id : 92775914951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25
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Select the most appropriate synonym of the given word.

Lethargic
Options :

1. # Dynamic

2. # Sprightly

3. ¥ Inactive

4. ¥ Enterprising

Question Number : 141 Question Id : 92775914951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Lethargic
Options :
1. * Dynamic
2. % Sprightly
3. % Inactive

4. % Enterprising

Question Number : 142 Question Id : 92775914952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Dexterous
Options :

1. % Proficient
2. # Judicious
3. # Insightful
4. ¢ Clumsy



Question Number : 142 Question Id : 92775914952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Dexterous
Options :

1. # Proficient
2. # Judicious
3. # Insightful
4. ¥ Clumsy

Question Number : 143 Question Id : 92775914953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Potent

Options :

1. ¥ Feeble

2. # Eloquent
3. % Paramount

4. # Vigorous

Question Number : 143 Question Id : 92775914953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Potent
Options :

1. ¥ Feeble
2. % Eloquent



3. # Paramount

4. # Vigorous

Question Number : 144 Question Id : 92775914954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Bungalow

2. ¥ Expereinced

3. # Imprison

4. # Retaliate

Question Number : 144 Question Id : 92775914954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. #* Bungalow

2. ¥ Expereinced

3. # Imprison

4. ® Retaliate

Question Number : 145 Question Id : 92775914955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Mockery

2. # Prevalent

3. ¥ Dungeoun

4. % Wholesome



Question Number : 145 Question Id : 92775914955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Mockery

2. % Prevalent

3. % Dungeoun

4. % Wholesome

Question Number : 146 Question Id : 92775914956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Embarrassment

2. % Negligible

3. % Preventive

4. ¥ Corosive

Question Number : 146 Question Id : 92775914956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Embarrassment

2. # Negligible

3. % Preventive

4. ¥ Corosive

Question Number : 147 Question Id : 92775914957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Precautionery

2. # Diminutive

3. % Salubrious

4. % Abandonment

Question Number : 147 Question Id : 92775914957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Precautionery

2. # Diminutive

3. % Salubrious

4. % Abandonment

Question Number : 148 Question Id : 92775914958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

My best friend was a real ray of sunshine when I was recovering from surgery.
Options :

1. # One who supports

2. ¥ Happy and pleasant

3. % A symbol of success

4. % A reason to reject

Question Number : 148 Question Id : 92775914958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

My best friend was a real ray of sunshine when I was recovering from surgery.
Options :

1. # One who supports

2. % Happy and pleasant

3. % A symbol of success

4. % A reason to reject

Question Number : 149 Question Id : 92775914959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

Roger seems to have lost the plot ever since his wife died.
Options :

1. % To lose all money

2. % To be hilarious

3. ¥ Act in a disorganized manner

4. # To refuse to obey

Question Number : 149 Question Id : 92775914959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

Roger seems to have lost the plot ever since his wife died.
Options :

1. # To lose all money

2. % To be hilarious

3. % Actin a disorganized manner



4. # To refuse to obey

Question Number : 150 Question Id : 92775914960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Wear heart on sleeve
Options :

1. # To disclose a secret
2. # To be funny

3. # To lack intelligence

4. ¥ To openly display emotions

Question Number : 150 Question Id : 92775914960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Wear heart on sleeve
Options :

1. # To disclose a secret
2. % To be funny

3. # To lack intelligence

4. ¥ To openly display emotions

Question Number : 151 Question Id : 92775914961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

The meat and potatoes
Options :



1. ¥ Most fundamental aspects of something
2. # Things that are unimportant

3. % Two things that coexist

4. # Things that are contradictory

Question Number : 151 Question Id : 92775914961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

The meat and potatoes

Options :

1. ¥ Most fundamental aspects of something
2. % Things that are unimportant

3. # Two things that coexist

4. % Things that are contradictory

Question Number : 152 Question Id : 92775914962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

One who can speak two languages fluently
Options :

1. # Biannual

2. ¥ Bilingual

3. % Biennial

4. % Bicameral

Question Number : 152 Question Id : 92775914962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.



One who can speak two languages fluently

Options :

1. # Biannual
2. ¥ Bilingual
3. # Biennial

4. % Bicameral

Question Number : 153 Question Id
Orientation : Vertical

: 92775914963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

Able to adapt or be adapted to many different functions or activities.

Options :

1. # Bibliophile
2. # Prehensile
3. ¥ Versatile
4. # Logophile

Question Number : 153 Question Id
Orientation : Vertical

: 92775914963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

Able to adapt or be adapted to many different functions or activities.

Options :

1. # Bibliophile
2. # Prehensile
3. % Versatile
4. % Logophile

Question Number : 154 Question Id

: 92775914964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A phrase or form of words written in memory of a person who has died, especially as an inscription on a tombstone.
Options :

1. ¥ Memorial

2. % Epigraph

3. ¥ Commemorate

4. ¥ Epitaph

Question Number : 154 Question Id : 92775914964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A phrase or form of words written in memory of a person who has died, especially as an inscription on a tombstone.
Options :

1. % Memorial

2. % Epigraph

3. ¥ Commemorate

4. ¥ Epitaph

Question Number : 155 Question Id : 92775914965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A person who studies or is an expert on birds.
Options :

1. ¥ Ornithologist

2. # Pulmonologist

3. % Anthropologist



4. % Cosmologist

Question Number : 155 Question Id : 92775914965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A person who studies or is an expert on birds.
Options :

1. ¥ Ornithologist

2. % Pulmonologist

3. # Anthropologist

4. % Cosmologist

Sub-Section Number : 2
Sub-Section Id : 927759714
Question Shuffling Allowed : Yes

Question Id : 92775914966 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
Read the passage carefully and select the best answer to each question out of the given four alternatives.

The Holocaust, also known as the Shoah, was the World War II genocide of the European Jews. Between 1941 and 1945, across German-
occupied Europe. After the passing of the Enabling Act on 24 March, which gave Hitler plenary powers, the government began isolating Jews
from civil society; this included boycotting Jewish businesses in April 1933 and enacting the Nuremberg Laws in September 1935. Germany
implemented the persecution in stages. Following Adolf Hitler's appointment as Chancellor on 30 January 1933, the regime built a network of
concentration camps in Germany for political opponents and those deemed "undesirable", starting with Dachau on 22 March 1933.

On 9—-10 November 1938, eight months after Germany annexed Austria, Jewish businesses and other buildings were ransacked, smashed or set
on fire throughout Germany and Austria during what became known as Kristallnacht (the "Night of Broken Glass"). After Germany invaded
Poland in September 1939, triggering World War II, the regime set up ghettos to segregate Jews from the rest of the population. The murders
were carried out in pogroms and mass shootings; by a policy of extermination through work in concentration camps; and in gas chambers and gas
vans in German extermination camps, chiefly Auschwitz, Betzec, Chetmno, Majdanek, Sobibor, and Treblinka in occupied Poland.

Eventually thousands of camps and other detention sites were established across German-occupied Europe. The segregation of Jews in ghettos
culminated in the policy of extermination the Nazis called the "Final Solution to the Jewish Question", discussed by senior Nazi officials at the



Wannsee Conference in Berlin in January 1942. As German forces captured territories in the East, all anti-Jewish measures were radicalized. The
killing continued until the end of World War II in Europe in May 1945.

Sub questions

Question Number : 156 Question Id : 92775914967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where did the ‘Final Solution to the Jewish Question’ take place?
Options :

1. ¥ Wannsee Conference

2. # Ghettos

3. % Nuremberg Laws

4. # Kristallnacht

Question Number : 157 Question Id : 92775914968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was Hitler appointed as Chancellor of Germany?
Options :

1. ¥ January 1933

2. % November 1938

3. % September 1935

4. % April 1941

Question Number : 158 Question Id : 92775914969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How did Hitler get plenary powers?
Options :

1. # by invading Poland

2. ¥ by Enabling act

3. # by annexing Austria

4. # by boycotting Jewish businesses



Question Number : 159 Question Id : 92775914970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which people were mainly targeted in the Holocaust?
Options :

1. * Roman Catholic

2. ¥ European Jews

3. * European Christian

4. % Roman Jews

Question Number : 160 Question Id : 92775914971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When did Germany invade Poland?
Options :

1. * 1933

2. % 1938

3.9 1939

4. % 1941

Question Id : 92775914966 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
Read the passage carefully and select the best answer to each question out of the given four alternatives.

The Holocaust, also known as the Shoah, was the World War II genocide of the European Jews. Between 1941 and 1945, across German-
occupied Europe. After the passing of the Enabling Act on 24 March, which gave Hitler plenary powers, the government began isolating Jews
from civil society; this included boycotting Jewish businesses in April 1933 and enacting the Nuremberg Laws in September 1935. Germany
implemented the persecution in stages. Following Adolf Hitler's appointment as Chancellor on 30 January 1933, the regime built a network of
concentration camps in Germany for political opponents and those deemed "undesirable", starting with Dachau on 22 March 1933.

On 9-10 November 1938, eight months after Germany annexed Austria, Jewish businesses and other buildings were ransacked, smashed or set
on fire throughout Germany and Austria during what became known as Kristallnacht (the "Night of Broken Glass"). After Germany invaded
Poland in September 1939, triggering World War 11, the regime set up ghettos to segregate Jews from the rest of the population. The murders



were carried out in pogroms and mass shootings; by a policy of extermination through work in concentration camps; and in gas chambers and gas
vans in German extermination camps, chiefly Auschwitz, Betzec, Chetmno, Majdanek, Sobibor, and Treblinka in occupied Poland.

Eventually thousands of camps and other detention sites were established across German-occupied Europe. The segregation of Jews in ghettos
culminated in the policy of extermination the Nazis called the "Final Solution to the Jewish Question", discussed by senior Nazi officials at the
Wannsee Conference in Berlin in January 1942. As German forces captured territories in the East, all anti-Jewish measures were radicalized. The
killing continued until the end of World War II in Europe in May 1945.

Sub questions

Question Number : 156 Question Id : 92775914967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where did the ‘Final Solution to the Jewish Question’ take place?
Options :

1. ¥ Wannsee Conference

2. # Ghettos

3. % Nuremberg Laws

4. # Kristallnacht

Question Number : 157 Question Id : 92775914968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was Hitler appointed as Chancellor of Germany?
Options :

1. ¥ January 1933

2. % November 1938

3. % September 1935

4. % April 1941

Question Number : 158 Question Id : 92775914969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How did Hitler get plenary powers?
Options :



1. # by invading Poland
2. ¥ by Enabling act
3. % by annexing Austria

4. # by boycotting Jewish businesses

Question Number : 159 Question Id : 92775914970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which people were mainly targeted in the Holocaust?
Options :

1. % Roman Catholic

2. ¥ European Jews

3. % European Christian

4., % Roman Jews

Question Number : 160 Question Id : 92775914971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When did Germany invade Poland?

Options :

1. % 1933

2. % 1938

3.9 1939

4. % 1941
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Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 92775914972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frafifed 3 @ e &1 g I fowse sH-a g
Options :

1. ® T+ 3Hh

2. ¢ T+ 3F

3. % T + b

4, # M+ Ydb

Question Number : 161 Question Id : 92775914972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fofefad § ¥ T o1 I8! 9fY fowe SH-a18?
Options :

1. % T+ b

2. N+ 3D

3. % T + b

4. ® MM+ Jh

Question Number : 162 Question Id : 92775914973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrefafed & 3 -1 fader g 82
Options :

1. ® I

2. % HAg

3. ¢ 3o

4. % 3fc1

Question Number : 162 Question Id : 92775914973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frefafd & 9 wH-ar fadere o 82
Options :

1. # ddPb

2. % FHallg

3. ¢ 3ol

4. % 3fcT

Question Number : 163 Question Id : 92775914974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfIRad & ¥ H19-91 dgd Usg 82




Options :

1. ¢ 3{dlSl

2. % 3f&Qqlc

3. % 3{HGHI
4. % T

Question Number : 163 Question Id : 92775914974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & 9 $1F-91 dwd T 87
Options :

1. & 3dlSl

2. ® J&dIc

3. % 3{HOHI

4. % SFTET

Question Number : 164 Question Id : 92775914975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAfRId o O DI1F-91 SfERftHTa TH $T IaTeR0 To! o7
Options :

1. % gfafea

2. % gyIfafy

3. % gYTRIfeRT

1 v drgen

Question Number : 164 Question Id : 92775914975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAfRId o O D1F-91 SfeErRftHTa THY BT IaTeRU Tal o7

Options :




1. ® ygfafeq
2. % gyrfafy
3. % gYIfag

1 v drgen

Question Number : 165 Question Id : 92775914976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAferad & 3 areg < DA, T QWRAT {6 T BT ISTe0 82
Options :

1. * fsTaree g9

2. ¢ TYATaH FITH

3. % foTar® 9dH

4. ® JyTaTES JaIH

Question Number : 165 Question Id : 92775914976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEfaRad & 3 are i IR, T WA g Ja=Td BT IS0 82
Options :

1. % Fygarde g

2. ¢ ASYIADH FaH

3. % ASare gd4m

4. % IFYaTH T

Question Number : 166 Question Id : 92775914977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrefeied & 9 "Sagred" &1 faey <sg o1 52
Options :

1. & 3T



2. % 3dY

3. % gfdod
4. % gfaam

Question Number : 166 Question Id : 92775914977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
freffed & @ "Sear o1 faeiv e 82
Options :

1. % AT

2. % Y

3. % Ufdgd

4. % gfaeH

Question Number : 167 Question Id : 92775914978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT & 9 S1H-91 S/ Xeg $T Taigar Tg1 57
Options :

1. # fbepx

2. % 4

3. % URARD

4.« arHl

Question Number : 167 Question Id : 92775914978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrfRed & 9 HH-91 "SR Xea BT qargard 81 82
Options :

1. # fbapx

2. % Y4



3. % JAR®
4.« g

Question Number : 168 Question Id : 92775914979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau T g 3 fo Ffaaa § § ue Tsg &1 T BifvTe-
fafRry srawr o fafRry vt & e feam man fagargof v

Options :

1. % fosfoet

2. ® Y&

3. % iR
4. & YT

Question Number : 168 Question Id : 92775914979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau e gt & foru Refefad # Q ue Wsg &1 997 BT
ARy sraeR W fafRy A & Twer faam mar fagargot Hyor|

Options :

1. % fesforet

2. % J&fId-

3. % 3ffYaRE
4. ¥ YT

Question Number : 169 Question Id : 92775914980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffoRad & 9 U 7T Wreq-gm & Hg! 31-1g BT I0 Bifore-



Hhd - HHdd
Options :

1. ¢ gl - fered
2. % X - A
3. % fqafg - grh
4. % FAD - YD

Question Number : 169 Question Id : 92775914980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRy o 9 faU 77T 2reg-g1 & Tal 37-1g &1 99 BifoTe-

Hchd - HHdd
Options :

1. ¢ il - fored
2. % ad - 3d¥d
3. % ffg - anh
4. % FAD - YD

Question Number : 170 Question Id : 92775914981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fffad & 9 -1 Weq "0 &1 [Iad Teg T8l 82
Options :

1. # frspour

2. % 3HpdU[

3. ¢ HagHl

4. % xR

Question Number : 170 Question Id : 92775914981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

FAfIRId T O D19-91 Teg "B B faeli Teg T8l 67
Options :

1. % fepou

2. % HHDU[

3. ¢ Hagl

4. % fAsgR

Question Number : 171 Question Id : 92775914982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEfRed O U Yg Wsg &1 98+ SifoTe-
Options :

1. % REq

2. ¢ fTUqufaa

3. % TGt

4. % qreHieh!

Question Number : 171 Question Id : 92775914982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ffefad § 9 g Tee &1 I9 BifoTT-
Options :

1. * gR¥q

2. ¢ fuqufad

3. % e

4, % grcHIe!

Question Number : 172 Question Id : 92775914983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



=R o & S e 99 H1 T HITOL-
SIS B T aTa 31T ) Fed gl

Options :

1. % dgdHd
2. % SIS
3. ¢ qIdlFd
4, % 3Id-

Question Number : 172 Question Id : 92775914983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfeRed W @ Sugerd Weq =T o1 = HIToTL-
ST § T et S B $Ed g

Options :

1. # dgdlHid
2. % S
3. ¥ qIdldd
4. % 3Id-

Question Number : 173 Question Id : 92775914984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ffoiad | O SrTd/aHd Xeg &1 Ig HIfoTL-
Options :

1. ¢ fiaes

2. % didl

3. % T

4. % PR




Question Number : 173 Question Id : 92775914984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfaRad A T SRRTd/dHd Xeg &1 I DioTu-
Options :

1. ¢ fiaes

2. % qidl

3. % T

4. % PN

Question Number : 174 Question Id : 92775914985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=faRad & O SWiad Xea T BT 9T HifoT-
R U1 RS SFRTT &t FHed gl

Options :
1. ® favm
2. % TG
3. ¢ JUIg
4. % IGRAA

Question Number : 174 Question Id : 92775914985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fferiRad # ¥ ST eg T8 &1 T HIToTE-
T HTa fAIfad SR FEd gl

Options :
1. % form
2. % QI‘I? 5

3. ¥ U




4. % IGNH

Question Number : 175 Question Id : 92775914986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfRed O T oiR[g Wsg BT 9T HIFL-
Options :

|. % HAHsSd

2. % gl

3. ¢ SIS

4. % geler

Question Number : 175 Question Id : 92775914986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfafad # ¥ o< wIsg &1 797 Bifve-
Options :

1. ® #Hsd

2. % gl

3. ¥ SIS

4. % JHIEM

Question Number : 176 Question Id : 92775914987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RrERiRe # & a7 Treg Wi &2
Options :

1. ¢ Hid

2. % gd

3. % R

4, % 3X4J



Question Number : 176 Question Id : 92775914987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PRI & @ P e TR &2
Options :

1. ¢ Hfd

2. % g

3. % R

4. % 3{Xd

Question Number : 177 Question Id : 92775914988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=fafad § @ HH-11 v 9ga9 82
Options :

1. % 7di

2. %1041

3. % HIPIRI

4, AH&d

Question Number : 177 Question Id : 92775914988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & @ H19-91 e Igaa 72
Options :

1. % 94

2. %34yl

3. % HIPIRI

4.« AH&d



Question Number : 178 Question Id : 92775914989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
aTa " ge 3 a5 H 4 g7 Tl

ST a1 o Ja=TH &1 WaRT foeam T 82
Options :

1. % fTIgarad TdH

2. % YIRS Ja-TH

3. ¢ FSIa® TgaH

4. % YIS GIIH

Question Number : 178 Question Id : 92775914989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a8 Ge, 3P favg H T g1 ATl
SUad A B fod a1 &1 T fohar T g2

Options :

1. % AfTIgarae IdH
2. % YIRS JaaTH

3. ¢ fASlas gdam

4. % geyarad IdTH

Question Number : 179 Question Id : 92775914990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfaRad & Q S1H-91 IdHHBTA BT U el 82
Options :

1. % UM gdHE BT

2. % dIHICIP qaqHHId

3. % guf gdHE &1d




4. ¥ BIeqHG IGHH BT

Question Number : 179 Question Id : 92775914990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAfafed & ¥ S1H-31 9daeTd BT 96 T8l 82
Options :

1. % G IAHH Bt

2. % FIHIAS gAHHST

3. % gUl gdHE B1d

4. ¢ Bdeqyg 90U I

Question Number : 180 Question Id : 92775914991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e # 9 -9 fagvo g2
Options :

1. ® fogR

2. ¥ difg®

3. % Bl

4. % §dB]

Question Number : 180 Question Id : 92775914991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RrRied § & SO AR &
Options :

1. % f98R

2. ¥ Rfsd

3. % ol

4. % §dB



General Hindi2

Group Number : 10

Group Id : 927759542

Group Maximum Duration : 0

Group Minimum Duration : 120

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General Hindi2

Section Id : 927759578

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 927759716

Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 92775914992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfIRId & ¥ Y[ 91 &1 T BITT-

Options :




1. % TR 3! Yo g3

2. % T Bd DI ATl a13A1|

3. % gg BT 3TTh WHIG & HTET |
4. v gt faaneff Rieres o1 g B 21

Question Number : 181 Question Id : 92775914992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEffed o T Y a1 &1 999 BHifTt-
Options :

1. % G 3Dl Y g3 |

2. ¥ U B DI ATl AT

3. % Ug BT 3UP WHT & HTET G|

4. ¢ g=0a faendf e 1 D grar 3|

Question Number : 182 Question Id : 92775914993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAAfaRad 5 9 9 gaars et 9-1a1 81| {5 T 1 IS8R0 82

Options :

1. % HE YdPbId

2. ¥ gdeddg YaoId
3. ¢ Y aAHMHD T
4. % 3quf YdHbrd

Question Number : 182 Question Id : 92775914993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAAfaRad 7 9 are gaars et 9-1a1 81| {5y o1 &1 IS8R0 82



Options :

1. % G YdhbTd

2. % gdeqyg YaoId
3. ¢ ey aAHMDTIA
4. % 3quf Ydpra

Question Number : 183 Question Id : 92775914994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfafed O T SiRlg 91 &1 T Pifore-
Options :

1. % 3 W ST RS g

2. % TRd QX Ugdl g

3. % FHETHAST Y BT BIs T8l ¢

4.« T D! AR U= ga|

Question Number : 183 Question Id : 92775914994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAmfeIRad & ¥ 31R[g a1 BT Ig Pifor-
Options :

1. % 3P QHI TGRS 3|

2. % TIRd Q&b UGl 8|

3. % el H e Y BICT IS T8I 6|

4. ¢ T 3OH! FHASHR U G|

Question Number : 184 Question Id : 92775914995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

919 "EHY 3T H1d a1 foban S| fAfafRad 7 9 fag o &1 3R g2




Options :

1.« YHlddi=g
2. % HHATA
3. % Hgdrd
4. % fgEgary

Question Number : 184 Question Id : 92775914995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR "SHY ST DI g 1o idT| Al & T forg 9T &1 Ierexur 82

Options :

1. ¢ Hlddg
2. % HHATH
3. % Hgdrd
4. % fgEgary

Question Number : 185 Question Id : 92775914996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAfafea o T foufed fag » 81 eRy 3 » 5T wRe BT 82
Options :

1. % 3fYHRU HRD

2. % JHUIQlH HRP

3. % JUIGH HRP

4. ¥ GHEIYT RSP

Question Number : 185 Question Id : 92775914996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 7 3 faufea g » 31 3R ofl » o R 1 82



Options :

Question Number : 186 Question Id : 92775914997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfafed O T are & g U &1 90 DIfoT-
Options :

1. % QBT = M 3R draf § srepHor fasan|
2. UIBTI = Mal 3Rl § 3MTepHuT foa |
3. % UIfeha A el 3R a1Y 3 3 HvT fHar|
4. % TIfBTAE M 3R AT T 3MHHUT B |

Question Number : 186 Question Id : 92775914997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fArfeRad 4 9 a1 & g FU D1 I DifoTd-
Options :

1. % TIfordT A M SR AUl & SMrehHu fosa |
2. ¢ TIfed = TMal 3R Al I 1T foan|
3. % UIfpea = Tal 3R i ¥ 31T fopa|
4. % I M 3R AT SHTHHIT B |

Question Number : 187 Question Id : 92775914998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ao § @ HHard ard 919 &1 g HIfoTe-

Options :




1. % gRdd ¥ 331 el ordll

2. % A% qXd® Ugdl g

3. ¢ B9yl gRT HAdd fordl T |
4. % Yg ¥ I -Tg! S|

Question Number : 187 Question Id : 92775914998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frmferRad & O wara ard ared &1 98- BIfoT-
Options :

1. % gdd ¥ I&1 6! orar|

2. % a9 Y& UgdT g |

3. ¥ BTl gRT HigaTy foret T |

4. % YU T Tl g1 S|

Question Number : 188 Question Id : 92775914999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfaRad & @ GeterT +id &1 St AT &1 & 31 g2
Options :

1. % §AHP M

2. ¢ DHcifobd BT

3. % U AT

4. % 3RTH Y e

Question Number : 188 Question Id : 92775914999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR & 9 geTarT "=iet &1 o T &1 T 31 82

Options :

1. % §AHW M



2.« Halhd HRATI
3. % qUUT AT
4. % 3R Y el

Question Number : 189 Question Id : 92775915000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfafad o @ frg qerar &1 o ifar a1 gar 82
Options :

1. % g1y Uld ARAT

2. % BATH TS M

3. % gq fgar

4. Y U

Question Number : 189 Question Id : 92775915000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfeRad & ¥ fog qgTar &1 3 »ifar a1 gar 82
Options :

1. % g1 Ul AR

2. % AT TS A

3. % gq fgar

4. BIY M|

Question Number : 190 Question Id : 92775915001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frferRad & & GererT "% dxAr &1 o1 31 g2
Options :

1. % W U Tdh HAT

2. % Yl STHR Y|




3. ¢ TR HAT T I ST
4. % Hah geHI|

Question Number : 190 Question Id : 92775915001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=fafad § O qerert "o e w1 o s g2
Options :

1. % W U T HAT

2. % GIg gIH AT

3. ¢ U HA1 T Il ST

4. % Bb FoMI|

Question Number : 191 Question Id : 92775915002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFAfRId o & eepifad = =1 T I I A A&/ AR BT 7 31 g2
Options :

1. ¥ B 9 HA 8 SRIT Tl G|

2. % GIIg WR U A o d1¢ geTd H YHIEHT 81 BT 1T BT |

3. % YRS A i g 9w T e  ford = 8k

4. % B HT g0 J Ut 3P Tl g1 |

Question Number : 191 Question Id : 92775915002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR o 9 Aiifad = = 7 o ST 7 7T AR &1 o 312 g2
Options :

1. ¥ BT A B g ST T 3G

2. % Siig WR UT0 - & §1G gerd B YHTET G- BT @1 BT |

3. % UGS 9 Afad gRI w8 B ®R4 o ford faa=r g |




4. % BIC BT ds U I 3% areTe g1 |

Question Number : 192 Question Id : 92775915003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFfaRad o O foa deifad o1 o » SRR afdd TuagH 8iaT 8" 82
Options :

1. % =G 919 7 Forl SR |

2. % YNTd IR/Hd b IS g1 Hgl|

3. ¢ sl &1 Sl 7 IR DI 7 UIC 1|

4. % g1Y - Uiq Bd ST

Question Number : 192 Question Id : 92775915003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frfefaa & 3 fra dieifa o1 oref » oifRR afd yuad giar e 82
Options :

1. % 93T 91 7 Foilt SRt

2. % YNTd IR/Hd b It g1 Hgl|

3. ¢ HIefl T BT 7 TR BT 7 UIc B

4. % g1Y - Uiq Bd ST

Question Number : 193 Question Id : 92775915004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frefoRed o 9 ooy areg # form foret o1 wgt o et fopan T g2
Options :

1. % fa=a1feE (1Y 9 Hiud gU) e ol

2. % YIRS (GFAMR) T SR 4 & W& U

3. % QR QI A O - 7 - 87 ¥ o1 P & & [og vad fopan|

4. ¥ TOYHR YIS 3 T g "oiig fazd &t gy gl




Question Number : 193 Question Id : 92775915004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=fied O 9 fore are & formd formgi &1 9! vt el T Tt g2
Options :

1. % fo=arf®E (1Y 8 Hiud gU) 3ex ol

2. % YIRS (GFAMR) T SR 4 & W& U

3. % QRIS GIaMI A O - T - 47 U <=1 P & o fore ua fova |

4. SRR YIS - Hgl § "oia- [9%d & Jrfi g

Question Number : 194 Question Id : 92775915005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & @ fa fome o1 v ferea gwa ot 2resg 1 4ol ST R fahar ST 8
Options :

1. ¢ faERU a1 IR forg

2. # Ufod forg

3. % O9d fag

4. % fowETeeiys s

Question Number : 194 Question Id : 92775915005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfied o 9 forg fomg &1 ua forad o fansht 2reg &1 Jd ofF IR foam ST 5|
Options :

1. ¢ R a1 I qRs s

2. % GTRio fog

3. % qrgd g
4. % fomareays g



Question Number : 195 Question Id : 92775915006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafefaa 7 fau o arey # g fas o1 v fosar man g2

T OR SaRG AL ... W R 1|
Options :

1. % 3fior forg

2. ¢ UadY g

3. % Jufav fog

4. ® fouaiieays g

Question Number : 195 Question Id : 92775915006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad 7 9 fau v atew & g foas o1 v fosar man g2
A R 3ITG I ... W TR 1|

Options :

1. % g™ fag

2. ¥ Ucdly forg

3. % JufoR™ forg

4. % fowraidays fag

Sub-Section Number : 2
Sub-Section Id : 927759717
Question Shuffling Allowed : Yes

Question Id : 92775915007 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

few T TTerT=T T WY 31 IR U & IR -
GRETET Ud &1 7 20 A 1900 H ST, STURRAUS, HRd H §31T 4TI 71 & B8 °c J1G a1 Al bl B g - B14 foran| g &1 STt




Tl = e g | fRIR) T A1 ¥ T T &l | e REPR § G ot & YHUR Pfa Ud o1 YR e drart mia & e J
g%, i~ I8 IRIORT 31 7T 3R SRARRIV gk d | RIef UTs, $9% die 361+ sarglale H TR ded dHicel H Ja=T o, R gexiiiste
aﬁ?uﬂ&nﬁéﬁﬁqﬁé’r1921ﬁ&m€ﬁﬂmﬁwmﬁw|aﬁ%$wmw TS Gl 71 I Bl aTd TR W, ST %
A 371, M & Us, Uferdl &1 Hard, 9iid Wisfiedr, ais, R 9 918 & Us! &I 99R g Id g g dd TGH! HIei Al TRI HIX
mﬁaw%w%w%wﬁmﬁﬁvaﬂﬁwﬁwﬁﬁaw%ww@ﬁwﬁerﬂ?‘cﬁﬁwa‘s’ﬁw‘rfrqaﬁaﬁﬁw
U & fd geu 51 foar Ut wifes 571 & 5 902 SIe & 3ab! Al obT e 21 7 o, S¥fere yopfa oot agt xeuftarar sept af o il et
o 3! AT B19 ¥ STers A1 ol OR- SR 75T & it o1 Wsal & A1 § I H S5 1| 1 i S8 9y S ard
i & TR | 6-1q>ﬂ-n‘s‘ﬂtqoda’&rﬁ\—rﬁ$&@wa S fe<t 3 PHISAT & Hiaand Hf forat HRd A1 TaTdhal SIa 30 TS 37Ot
Tl 1 H¢R $HS Y Hiddd AT $Hd, dl STeidh ﬂqﬁ‘aﬁﬁﬁmﬁsﬁ?ﬁgudm AT gl 3R 3T ORE & WAl PI ghal DR Hia]
WWWWlWWHﬁMWﬁ%&HW% JTageR oo # |$4¢w|dd|u|oﬁ%ﬁwe@msﬂuq¢<
3% SUER U TP [d o U1 | 7RG AT &1 Y H 3¢ UeTs & (o SeHIS[ o ' o O foar T
Wéa&rmﬁqﬁmmmug@%w@raﬁwﬁmwaﬁ@m th»maaa%w?rﬂ?n‘s‘aﬂaﬁwwqwﬁaaﬂﬁw
Y UG IhT T 3T AT W TAT| 3R I8 TEHUT & TR DT 3= HFHR U ATH TS o7 ¥ sd B GREHe & forr|
DS YOI d1G AN o JaTaRIT & o F YUIfdd Sih 310U T  geRrTel a1e 79 ferd |

Sub questions

Question Number : 196 Question Id : 92775915008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofaRad o 9 Iwjad TR &1 3fud e difore-
Options :

1. % TTS ol & URfe fRreq

2. % TS & B JAUIS YREBR e

3. ¢ GEATGH Ud &1 Siiad U<y

4. ® TG Bl Sild- YRy

Question Number : 197 Question Id : 92775915009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR T H T Teg “dHT” T yafgare fFaffad # ¥ H19-91 32
Options :

1. % FeE

2. ¢ Fual



3. % fquqg
4. % gy

Question Number : 198 Question Id : 92775915010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SWRIgd T & ey & fFafafad § § $H-91 &3 981 181 82

Options :

1. % JAUS REDHR W THIA fe<! & YHHR Hid Gd &1 IR A& ST 7T & Tod J g3

2. % YETe Ud, ScHifeue & WIS T oo 9 Ugd a1 1921 H SRIganT figier H =mfid g1 e 3|
3. ¥ SIA TG B Rathd dd &1 (& DI & TR ded W J g5

4. % GEFFCT Ud &1 9 20 T3 1900 T DI, STRRITS, HRd H 31T AT

Question Number : 199 Question Id : 92775915011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JURIG TR &b SR GG Ud off ol fRgfeiRad & 9 ford QREBR I qean=d fosam U
Options :

1. % T SBIGH RIBR

2. ¢ JAUIS RIHR

3. % 3R RWPR

4. % e e Fifd PR

Question Number : 200 Question Id : 92775915012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFafafea d g« R  oH-argaa 32
Options :

1. ¢ 3oIdIHTd JHTY

2. % gg qaN

3. % fgrauN

4. % qgdifg 9ur™




Question Id : 92775915007 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

3T TTQ TR HT ATYED S HR YA & IR SlfoTe-

R Ud &1 5= 20 A3 1900 H DI, STRRIUS, YR | G311 UTI T & B8 °e 918 a1 AT &l = G A o1 foran | FRIgg &t Iqapt
m"rﬁwuﬁw&r@mwr@wqﬂr&mWwﬁﬁwﬁa%ﬁ$wmqﬁﬁuﬁ%ﬁr&nﬁﬂ1ﬁm$wﬁ
g%, fihR 98 aRIURT 31 Y 3R SIgARTAU gesga H fR1e urg, 39 d1¢ 351+ Sareiaie H TR Jed Hicel § Uax fordn, IR gexiifsue
aﬁ"fﬂﬁ&ﬂﬁéﬁﬁﬂ%ﬁé‘f 1921 B RGN Sffeler H A B 1Y hfd & 0= BT A TS G ATl W T a1 URTE) R, 3T B
I 3T, G & U, Uferl &1 dhed, At TS osdl, §ie], R d IS & U &I §9R 9 7i1d R R 9 TGH! DIt I -] HdR
wamwm%wmeﬁ?mﬁﬁﬁ:ﬁwﬁﬁaw%wméﬁwﬁMﬁwmﬁmaﬁﬁw
U & fd geu 51 foar Ut wifds 5791 & @ Y02 S & 3-Ta! Al obT e 21 7 o, S¥fere yepfa oot agt xuftarar sel af o il et
o Sl AT B1d ¥ ST I o UR- iR g5l & Tiad B! sl & ATHH F BTN H Ib ol | frar e B?Er»uuqﬁm:ﬂ

T & BoR Y| 3% HTS IPd d ST & 3 TFHR 3, o gl T FHIG-1 & Hidand 1t forar #d 3| IaTeel Sia S TS SUH!
Tel 1 G¢R $HS Y B AT $Hd, Al S Wﬁ%@ﬁ%ﬁﬂﬁﬁﬁﬁﬁ%ﬁﬁgﬁﬁmm
foRE T U Rl | TTAD TS &l &1 TIZER] ab P RIET BT & TR T ﬁg‘scl g Hiddr urd @r% I T gUGER
3% SUSR H U Yad o T | TRE AT &1 U H 3% UGTs o (o7 3THIS] & TTa-He gl | Nl fadr 4| F It g
W%amﬁqﬁmmﬁnga%w@raﬁwﬂmwwﬁ@m P id I 951 & GHTS A [T G0 Bl <X adb YHTad = e
Y Ugd ST &1 3T 1 TR 17| 3R I8 A&l & AR o) 3=l AR 30T 19 T[S o1 J dad o GHATeT &R forr|
DS IO d1G AR o JaTaRIT & o  YUIfad Sihr 31U T  geRrTel a1d 79 e |

Sub questions

Question Number : 196 Question Id : 92775915008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad o ¥ Iwjad TR o1 3fud e gifeTe-
Options :

1. % THTE & B IR e

2. % TS &4 DI IAUS RIPR e

3. ¢ GG Ud &1 Sitad uR=d

4. % TG BT Siad GR=g




Question Number : 197 Question Id : 92775915009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIRI T H Ta Weg “dHI” T Yaigar Hgfefad # ¥ HiH-91 32
Options :

1. % fAdq

2. ¢ JUal

3. % fqug

4. % g™

Question Number : 198 Question Id : 92775915010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SWRIGd TR & ded & Fafiied o 9 SH-91 Sy 98! 7ol 82

Options :

1. % UG RIBR A THI 3dl & FHUR Hid Ud P URIYS R DI 1d & 5 J g |

2. % YEAMe Ud, ScHifSue & WIS T oo+ 9 Ugd a1 1921 H SRIganT figier # =mfid g1 T U1
3. ¥ SIA TG ) gRathd b &1 (A& HIH! & TR ded W J g3

4. % GEFCT Ud &1 9 20 T3 1900 T DI, STRIGUS, HRA H 31T |

Question Number : 199 Question Id : 92775915011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JURIG TR o SR GG Ud off dl fRgferiRad & 9 ford QREBR T qeari-d foham U
Options :

|. % T SBIGH REPR

2. ¢ JHUIS REHR

3. % 3 RWPR

4. % e e Fifd PR

Question Number : 200 Question Id : 92775915012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fafefad 7 @ <t Y & SF-a1 gara g2
Options :

1. ¢ 3[ediHId THY

2. % GG qAN

3. % fgrauN

4. % Sgdlfe qary



